			siness Name:	Distril	Electrical butors, Inc.		ine, Inc.	-	n Industrial Inc		urt C. Irby
	Principal Place of Bu	(,		yan, TX	Fort W	orth, TX	El P	aso, TX	Fort	Worth, TX
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	ON A: ANCHORING & GROUND										
	ANCHOR 10 WAY +	20	EA	\$100.64	\$2,012.80		\$1,421.00	\$180.48	\$3,609.60	\$99.83	\$1,996.60
	ANCHOR SHACKLE GA ^	30	EA	No Bid	\$5,409.90	\$56.60	\$1,698.00	\$180.33	\$5,409.90	\$73.94	\$2,218.20
	ANCHOR, SCREW REINFORCED 10"+	160	EA	No Bid	\$23,760.00	\$79.75	\$12,760.00	\$148.50	\$23,760.00	\$121.72	\$19,475.20
	CLAMP PUNCH-LOCK 4" TP-16	250	EA	No Bid	\$777.50	\$3.05	\$762.50	\$3.11	\$777.50	No Bid	\$777.50
1.5	CLAMP, GROUND ROD $5/8" +$	600	EA	\$2.60	\$1,560.00		\$1,380.00	\$7.09	\$4,254.00	No Bid	\$4,254.00
1.6	COMPRESSION COU FOR 3/4" G ROD	50	EA	\$24.62	\$1,231.00		\$915.00	\$39.45	\$1,972.50	No Bid	\$1,972.50
1.7	POLE PLATE +	350	EA	\$30.35	\$10,622.50		\$3,321.50	\$48.10	\$16,835.00	No Bid	\$16,835.00
	ROD FOR SCREW REINFORCED 10"+	150	EA	\$36.82	\$5,523.00		\$7,779.00	\$122.71	\$18,406.50	No Bid	\$18,406.50
	ROD, ANCHOR 1" X10' W/TWINEYE+	20	EA	\$101.18	\$2,023.60		\$1,647.00	\$272.58	\$5,451.60	No Bid	\$5,451.60
1.10	ROD, FOR 8"-10" SCREW ANCHOR+	5	EA	No Bid	\$188.45	\$37.69	\$188.45	No Bid	\$188.45	No Bid	\$188.45
1.11	ROD, GROUND, COPPER 3/4"x10'+	200	EA	No Bid	\$20,758.00	\$33.00	\$6,600.00	\$103.79	\$20,758.00	No Bid	\$20,758.00
1.12	ROD, GROUND, COPPER 5/8" X 8'+	400	EA	No Bid	\$27,660.00	\$21.00	\$8,400.00	\$69.15	\$27,660.00	No Bid	\$27,660.00
1.13	Estimated Delivery (Business Days)	1			14		14		65	1	No Bid
1.14	Special Order	1	% Discount	(0.01%	14	.0%	2	2.0%	1	No Bid
		Sect	tion A Total:	\$10	1,526.75	\$46,8	872.45	\$129	,083.05	\$11	9,993.55
SECTI	ON B: CONDUCTOR SUPPORT										
2.1	BAIL FOR STRANDVISE 3/8	10	EA	No Bid	\$128.30	\$12.83	\$128.30	No Bid	\$128.30	No Bid	\$128.30
2.2	CLAMP HOTLINE #4-300 MCM+	500	EA	No Bid	\$39,830.00	\$56.10	\$28,050.00	No Bid	\$39,830.00	\$79.66	\$39,830.00
2.3	CLAMP HOTLINE #6-3/0 +\	600	EA	\$20.00	\$12,000.00	\$18.31	\$10,986.00	No Bid	\$18,414.00	\$30.69	\$18,414.00
2.4	CLAMP, DEADEND 3/0-477 +	30	EA	\$19.18	\$575.40		\$729.00	\$72.45	\$2,173.50	No Bid	\$2,173.50
	CLAMP, 2/0-250	30	EA	No Bid	\$4,238.10	\$26.80	\$804.00	\$141.27	\$4,238.10	\$36.28	\$1,088.40
	CLAMP-GR, 2/0-250 CA TO 2	30	EA	No Bid	\$4,227.00	\$38.21	\$1,146.30	\$140.90	\$4,227.00	\$51.72	\$1,551.60
2.7	CLAMP, GROUND CONNECTOR 4/0 ^	20	EA	No Bid	\$640.00	\$32.00	\$640.00	No Bid	\$640.00	No Bid	\$640.00
2.8	CONDUIT STANDOFF BRACKET +	100	EA	\$45.05	\$4,505.00		\$3,774.00	\$145.58	\$14,558.00	No Bid	\$14,558.00
	CONDUIT, ALUMINUM 2" x 10' +	150	JT	\$43.20	\$6,480.00		\$6,394.50	No Bid	\$6,394.50	No Bid	\$6,394.50
2.10	CONDUIT, ALUMINUM 2.5 "x 10' +	60	JT	\$68.40	\$4,104.00		\$4,116.00	No Bid	\$4,116.00	No Bid	\$4,116.00
2.11	CONDUIT, ALUMINUM 3" x 10'	60	JT	\$89.80	\$5,388.00		\$5,406.60	No Bid	\$5,406.60	No Bid	\$5,406.60
	CONDUIT, ALUMINUM 4" x 10' +	150	JT	\$127.70	\$19,155.00		\$19,539.00	No Bid	\$19,539.00	No Bid	\$19,539.00
	CONDUIT, ALUMINUM 6" x 10' +	150	JT	\$229.90	\$34,485.00		\$35,748.00	No Bid	\$35,748.00	No Bid	\$35,748.00
	DEADEND, AUTO 2AL- 4ACSR CLEV+	50	EA	\$14.18	\$709.00		\$1,191.00	\$23.68	\$1,184.00	No Bid	\$1,191.00
	DEADEND, AUTO CU 6 SOL, LOOP+	5	EA	\$11.76	\$58.80		\$84.00	\$31.00	\$155.00	No Bid	\$155.00
	HEAD, WEATHER 2" +	10	EA	\$14.00	\$140.00		\$117.30	\$23.07	\$230.70	No Bid	\$230.70
	HEAD, WEATHER 2.5" +	20	EA	\$56.74	\$1,134.80		\$1,449.20	\$232.26	\$4,645.20	No Bid	\$4,645.20
	HEAD, WEATHER 3"	20	EA	\$85.46	\$1,709.20		\$1,775.00	\$370.54	\$7,410.80	No Bid	\$7,410.80
	HEAD, WEATHER 4" +	5	EA	\$120.00	\$600.00		\$477.50	\$279.77	\$1,398.85	No Bid	\$1,398.85
-	LOCKNUT, CONDUIT 2 1/2" +	600	EA	No Bid	\$2,760.00		\$1,920.00	\$4.60	\$2,760.00	No Bid	\$2,760.00
	POSITIONER CABLE +	150	EA	No Bid	\$9,739.50	\$28.17	\$4,225.50	\$64.93	\$9,739.50	No Bid	\$9,739.50
	STRANDLINK 3/8" +	50	EA	\$21.18	\$1,059.00		\$1,250.00	\$33.34	\$1,667.00	\$38.75	\$1,937.50
	STRANDVISE 3/8" + \	1.000	EA	\$22.59	\$22,590.00				\$65,490.00	\$44.74	\$44,740.00
	STRAP AL, CONDUIT 2 HOLE 2" +	130	EA	\$7.31	\$950.30		\$923.00		\$1,417.00		\$1,417.00
	STRAP AL, CONDUIT 2 HOLE 2.5"+	75	EA	\$8.99	\$674.25		\$680.25	\$7.60	\$570.00		\$680.25
	STRAP AL, CONDUIT 2 HOLE 3" +	75	EA	\$8.08	\$606.00		\$600.75		\$874.50		\$874.50
	STRAP AL, CONDUIT 2 HOLE 4" +	200	EA	\$9.13	\$1,826.00		\$1,848.00		\$3,142.00		\$3,142.00
	STRAP AL, CONDUIT 2 HOLE 6" +	150	EA	\$13.98	\$2,097.00		\$1,638.00		\$2,965.50		\$2,965.50
	STRAP, CONDUIT 2 HOLE 2" +	25	EA	\$7.31	\$182.75		\$177.50		\$63.00		\$182.75
	STRAP, CONDUIT 2 HOLE 2 + STRAP, CONDUIT 2 HOLE 4" +	25	EA	\$9.13	\$228.25		\$231.00		\$121.00		\$231.00
-	SUPPORT, CABLE TRAY 14" +	20	EA	\$41.53	\$830.60		\$905.00		\$1,758.80		\$1,758.80
	T SLOTS, STANDOFF BAR 5' +	50	EA	\$70.65	\$3,532.50		\$3,283.00		\$3,532.50		\$3,532.50
2.32		50	LA	φ70.03	φ5,552.50	φ05.00	φ5,205.00	NO DIU	ψ5,552.50	no bid	ψ5,552.50

	Respondent's Bu		Distri	Electrical butors, Inc.		ine, Inc.		Industrial Inc		
Line # Description	Principal Place of Business (Ci OTY	,	Br Unit	yan, TX Extended	Fort w	Yorth, TX	Unit	aso, TX		
		UUM		Extended		Extended		Extended	Unit	Extended
2.33 Estimated Delivery (Business Days) 2.34 Special Order	l	0/ Discount		280 Days		Days	45 Days 2.0%			lo Bid Io Bid
2.34 Special Order	1	% Discount tion B Total:		<i>No Bid</i> 7,183.75		.0% 967.70		.0%		о віа 3,580.75
SECTION C: CONDUIT PLUGS-ETCO	Sec	lion B Total:	\$10	7,185.75	\$101 ,	907.70	\$204	,558.55	\$230	5,580.75
	20	EA	No Bid	\$750.00	\$26.99	\$539.80	\$37.50	\$750.00	No Bid	\$750.00
	20	EA	No Bid No Bid	\$750.00	\$26.99	\$539.80	\$37.50	\$750.00	No Bid No Bid	\$750.00
3.2 Plug, Conduit 4" 3H for 4/0 3.3 PLUG,CONDUIT,6",4H, 500CU	20	EA	No Bid No Bid	\$221.15	\$37.63	\$188.15	\$44.23	\$221.15		\$221.15
3.4 PLUG,CONDUIT,6",4H, 750CU	30	EA	No Bid No Bid	\$1,326.90	\$37.63	\$1,128.90	\$44.23	\$1,326.90	No Bid No Bid	\$1,326.90
3.5 Estimated Delivery (Business Days)	1	LA		\$1,520.90 No Bid		Days		\$1,520.90 Days		\$1,520.90 To Bid
3.6 Special Order	1	% Discount		Vo Bid		.0%		.0%		lo Bid
	Sec	tion C Total:		3,048.05		396.65		048.05		,048.05
SECTION D: CONNECTORS			ψυ	,010.05	φ 2 90	0.00	ψυ,	010.05	ψ5	,010.05
4.1 CONNECTOR, 1 BOLT 4/0 +	500	EA	No Bid	\$25,980.00	\$21.54	\$10,770.00	\$51.96	\$25,980.00	No Bid	\$25,980.00
4.2 CONNECTOR, 1-BOLT,#1/0STR-#8SOL+\	750	EA	No Bid	\$29,182.50	\$15.89	\$11,917.50	\$38.91	\$29,182.50	No Bid	\$29,182.50
4.3 CONNECTOR, ARRESTER LUG +	1,500	EA	No Bid	\$10,980.00	\$8.66	\$12,990.00	\$7.32	\$10,980.00	No Bid	\$12,990.00
4.4 CONNECTOR, INSULATED MULITAP 3+	70	EA	No Bid	\$13,171.90	\$51.60	\$3,612.00	\$188.17	\$13,171.90	No Bid	\$13,171.90
4.5 CONNECTOR, INSULATED MULITAP 5+	30	EA	No Bid	\$6,870.90	\$64.80	\$1,944.00	\$229.03	\$6,870.90	No Bid	\$6,870.90
4.6 CONNECTOR, SHEAR BOLT	50	EA	No Bid	\$17,017.50	\$183.00	\$9,150.00	\$340.35	\$17,017.50	No Bid	\$17,017.50
4.7 CONNECTOR, TRANS, STUDMOUNT 5/8"+	20	EA	No Bid	\$570.00	\$28.50	\$570.00	No Bid	\$570.00	No Bid	\$570.00
4.8 INSULINK, #2 TO #4 + \	200	EA	No Bid	\$680.00	\$0.63	\$126.00	\$3.40	\$680.00	\$0.85	\$170.00
4.9 INSULINK, #4 T0 #4 +\	200	EA	No Bid	\$700.00	\$0.63	\$126.00	\$3.50	\$700.00	\$0.85	\$170.00
4.10 LUG, #2 CU, 1 HOLE, 1/2" DIA +	50	EA	No Bid	\$552.50	\$2.32	\$116.00	\$11.05	\$552.50	\$3.15	\$157.50
4.11 LUG, #2 CU, 1 HOLE, 3/8" DIA +	50	EA	No Bid	\$326.50	\$1.82	\$91.00	\$6.53	\$326.50	\$2.46	\$123.00
4.12 LUG, 4/0 CU, 2 HOLE, 1/2" DIA+	30	EA	No Bid	\$547.50	\$6.18	\$185.40	\$18.25	\$547.50	\$8.37	\$251.10
4.13 LUG, TAP #2 350MCM SINGLE +	600	EA	\$12.65	\$7,590.00	\$12.61	\$7,566.00	\$57.42	\$34,452.00	No Bid	\$34,452.00
4.14 LUG, TAP 2/0 100MCM DOUBLE+	550	EA	No Bid	\$63,695.50	\$45.98	\$25,289.00	\$115.81	\$63,695.50	\$72.72	\$39,996.00
4.15 LUG, TAP, SINGLE 350-750MCM +	200	EA	\$13.69	\$2,738.00	\$14.16	\$2,832.00	\$94.67	\$18,934.00	No Bid	\$18,934.00
4.16 LUG, TRANSFORMER GROUND 3/8+	600	EA	\$6.82	\$4,092.00	\$8.17	\$4,902.00	\$20.29	\$12,174.00	No Bid	\$12,174.00
4.17 SLEEVE DISCONNECT TB-7 (MTR)+	50	EA	No Bid	\$1,375.00	\$27.50	\$1,375.00	\$24.01	\$1,200.50	No Bid	\$1,375.00
4.18 SPLICE TENS AL 1/0-2/0 AUTO+	25	EA	\$17.59	\$439.75	\$26.53	\$663.25	\$67.97	\$1,699.25	No Bid	\$1,699.25
4.19 SPLICE TENSION AL #2-#4 STR +	75	EA	No Bid	\$3,110.25	\$11.41	\$855.75	\$41.47	\$3,110.25	No Bid	\$3,110.25
4.20 SPLICE TENSION AL $4/0 + $	10	EA	\$19.65	\$196.50	\$29.15	\$291.50	\$76.42	\$764.20	No Bid	\$764.20
4.21 SPLICE TENSION CU #4 SOL +\	30	EA	\$5.22	\$156.60	\$7.34	\$220.20	\$27.24	\$817.20	No Bid	\$817.20
4.22 SPLICE TENSION CU #6 SOL +\	100	EA	\$5.08	\$508.00	\$7.25	\$725.00	\$23.92	\$2,392.00	No Bid	\$2,392.00
4.23 SQUEEZON, 2/0-1/0 TO #2-#6 +\	1,100	EA	\$1.42	\$1,562.00	\$1.38	\$1,518.00	\$2.78	\$3,058.00	No Bid	\$3,058.00
4.24 SQUEEZON, #2-#6 TO #2-#6 +\	1,000	EA	\$0.75	\$750.00	\$0.74	\$740.00	\$1.76	\$1,760.00	No Bid	\$1,760.00
4.25 SQUEEZON, 1/0-#2 TO #2-#6 +\	1,000	EA	\$0.76	\$760.00	\$0.76	\$760.00	\$1.76	\$1,760.00	No Bid	\$1,760.00
4.26 SQUEEZON, 2/0-1/0 TO2/0-1/0 +\	300	EA	\$1.30	\$390.00	\$1.26	\$378.00	\$3.71	\$1,113.00	No Bid	\$1,113.00
4.27 SQUEEZON, 4/0 TO 2/0-1/0 +\	200	EA	\$1.41	\$282.00	\$1.39	\$278.00	\$5.00	\$1,000.00	No Bid	\$1,000.00
4.28 SQUEEZON, 4/0 TO 4/0 +\	250	EA	\$1.44	\$360.00	\$1.41	\$352.50	\$3.24	\$810.00		\$810.00
4.29 SQUEEZON, FOR 4/0 TO #2-#6 +\	900	EA	\$1.33	\$1,197.00	\$1.30	\$1,170.00	\$2.59	\$2,331.00		\$2,331.00
4.30 SQUEEZON, STREETLIGHT CONN +\	550	EA	\$0.42	\$231.00	\$0.46	\$253.00	\$1.20	\$660.00	No Bid	\$660.00
4.31 Estimated Delivery (Business Days)	1			14-259 days		days		days		300 Days
4.32 Special Order	1	% Discount		0.01%		.0%		.0%	0.01%	
	Sec	Section D Total:		\$196,012.90 \$101,767.10		\$258,310.20		\$234,860.30		
SECTION E: CONNECTORS-BURNDY AND KEARNEY										
5.1 AIRSEAL, 8"X8" PAD +	15	BX	\$83.75	\$1,256.25	\$105.00	\$1,575.00	\$36.49		\$106.34	\$1,595.10
5.2 CONNECTOR, CRIMP ON,3450-4/0^	60	EA	No Bid	\$10,735.80	\$65.68	\$3,940.80	\$178.93	\$10,735.80		\$5,335.20
5.3 CRIMPIT, CU 2SOL-2 STR,8S-4STR+	600	EA	No Bid	\$3,618.00	\$1.17	\$702.00	\$6.03	\$3,618.00	\$1.58	\$948.00

Principal Place of Baumes (UT w 100) UT w 100, W UT wet wet, N T P Work, TX Extravel Utile Extravel Extravel Utile Extravel Utile Extravel Utile Extravel Utile Extravel Utile		Respondent's Business Nam				Electrical butors, Inc.		ine, Inc.	Ĩ	Industrial Inc	Stua	urt C. Irby
14 CRUMPTIC CU 2804-2878 ch 1200 A No Bal 930000 914.8 940000 914.8 940000 914.8 940000 914.8 940000 914.8 940000 914.8 950000 914.8 950000 914.8 950000 914.8 950000 914.8 950000 914.8 950000 914.8 950000 914.8 950000 914.8 950000 914.8 950000 914.8 950000 914.8 910000 91000 9101 910000 9101 910000 9101 910000 9101 910000 9101 910000 9101 91000 9101 91000 9101 91000 9101 910000 9101 910000 9101 910000 9101 910000 9101 9100000 91010000000000000000000000000000000000		*		,				/		,		
15 CRAMPT, CU & ASJ, SAGL ASTRA, 300 EA No. Bal 327,000 94.44 92,22.00 94.04 92,22.00 95.07 95.72 95.0 95.07 95.72 95.0 95.0 95.77 95.27 95.27 95.23 95.13 95.00 95.77 95.27 95.23 95.13 95.00 95.75 95.75 95.23 95.13 95.00 95.75 95.75 95.23 95.13 95.00 95.75 95.00 95.75 <		*										
50 CRAINT, CU GA-ST, SNGLASTRA, 200 EA No. Ball \$1,2000 \$9,79 \$23,200 \$23,200 \$1,2000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,000 \$1,5000 \$1,5000 \$1,5000 \$1,5000 \$1,5000 \$1,5000 \$1,5000 \$1,5000 \$1,5000 \$1,5000 \$1,51000 \$1,5000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,51000 \$1,510000 \$1,510000 \$1,510000 \$1,510000 \$1,5100000 \$1,5100000000000000000000000000000000000												
157 CRMPT, CU 650L-18TR.65.46T-1, 300 EA No Bal 57.500 51.50 51.51.60 51.00 <t< td=""><td>-</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>	-											
15.8 INILIAN R 270 F2 - 1 201 A No Bal S775.00 Stat.8 S157.50 Stat.8 S175.70	-											
19. No. 11 No. 44 TO 88 (1) S11.00 S11.00 S11.00 S11.00 S11.00 S12.00 10. ULD, GYDR TO MCM 30 EA No Bul S12.00 S12												
1:10 L(G, 2) L(G, 2) L(G, 2) Statu \$50,245.00 \$55,245.00 \$55,245.00 \$55,245.00 \$15,24 \$55,245.00 \$15,24 \$55,245.00 \$15,24 \$55,245.00 \$15,24 \$55,245.00 \$15,24 \$55,245.00 \$15,24 \$55,250 \$14,27 \$55,250 \$14,37 \$55,245.00 \$15,35 \$15,257 \$15,357 \$15,357 \$15,357 \$15,357 \$15,357 \$15,357 \$15,350 \$15,357 \$15,350 \$14,350 \$12,372 \$15,350 \$14,350 \$13,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$14,350 \$15,350 \$14,350 \$15,350 \$14,350 \$14,350 \$14,350 <												
S11 ULC 9000KCM UNSHIELD 300 IA No Rid \$2,204.40 \$15.41 \$12.204												
512 LUGCOMP 2 HL 20 AWG 12 'BOLT 200 LA No Hall 52 AVG.00 54.47 \$814.40 54.77 \$22.446.00 \$5.51 \$5.11.00 \$5.14 \$5.21.00 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.10 \$5.84 \$5.22.50 \$5.85 \$5.27.27 \$5.86.00 \$5.91 \$5.91 \$5.91 \$5.91 \$5.87 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85.50 \$5.27.25 \$5.85 \$5.27.25 \$5.85 \$5.27.25 \$5.85 \$5.27.25 \$5.85 \$5.27.25 \$5.												
5.13 SLEFVE, NEUTRAL #2 STR AL #, 150 EA 83.80 588.50 52.27 538.50 52.214 53.2100 53.48 555.200 5.14 SELFVE, NEUTRAL #2 AT 100 EA 53.80 555.200 53.80 552.200 53.68 552.200 53.68 552.200 53.68 552.200 53.68 552.200 53.68 552.200 53.68 552.200 53.68 552.200 53.68 552.500 557.57 557.57 551.58 557.200 551.68 552.207 551.68 552.207 551.68 552.207 551.68 552.207 551.68 552.207 552.500 <t< td=""><td></td><td></td><td></td><td></td><td></td><td>. ,</td><td></td><td></td><td></td><td></td><td></td><td></td></t<>						. ,						
5.14 SLEEVE, NEUTRAL #4 4, 150 EA \$3.39 \$58.30 \$2.72 \$408.00 \$18.84 \$2.280.00 \$3.64 \$552.00 \$51.57 \$51.50 \$51.61 \$51.61 \$51.61 \$51.50 \$52.20 \$51.61 \$51.50 \$51.50 \$52.20 \$51.50 \$52.21 \$51.50 \$52.22 \$51.61 \$51.50 \$52.20 \$52.91 \$52.91 \$52.91 \$52.91 \$52.91 \$52.91 \$52.91 \$52.					No Bid							
15 SPIJCE 40 CUFULI, TENSION + 10 EA No. Bil Stort 0 \$13,500 \$64,70 \$13,260 \$56,700 \$13,28 \$132,800 \$56,700 \$13,28 \$132,800 \$56,700 \$132,800 \$56,700 \$132,800 \$56,700 \$132,800 \$56,700 \$132,800 \$16,816,60 \$141,822,800 \$17,815,800 \$17,815,800 \$17,815,800 \$17,815,800 \$17,815,800 \$17,815,800 \$13,815,800 \$13,815,800 \$13,815,800 \$13,815,800 \$13,815,800 \$13,815,800 \$13,815,800 \$13,815,800 \$13,815,800 \$141,812,812,800 \$141,812,812,800 \$141,812,812,800 \$141,812,812,812,810,810 \$141,812,812,812,810,810 \$141,812,812,812,812,812,812,810,810,812,812,812,813,810 \$141,812,812,8		SLEEVE, NEUTRAL #2 STR AL + \langle	150							\$3,321.00		
5.16 SPLICE CU 40 COMPRESS. 1 50 LA No Bid \$839.00 \$431 \$\$220.50 \$57.71 \$859.00 \$5.77 \$2298.50 5.17 SPLICE TENSION AL 775 AACT 300 \$16.36.80 \$\$1.63.80 \$\$1.63.80 \$\$2.63.20 \$\$41.45 \$\$223.72.00 \$No Bid \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$\$2.873.00 \$	5.14	SLEEVE, NEUTRAL #4 + \langle	150	EA	\$3.89	\$583.50	\$2.72	\$408.00	\$18.68	\$2,802.00	\$3.68	\$552.00
5.17 SPLICE FULL TENSION AL.356+ 5 EA No. Bul \$52,873.00 \$514.95 \$523.72 \$51.618.00 \$41.95 \$22,873.00 5.18 SPLICE TENSION AL.377.556 AAC1 30 EA \$33.18 \$995.40 \$54.30 \$52.873.00 \$94.41 \$52.873.00 \$94.41 \$52.873.00 \$94.41 \$52.873.00 \$94.41 \$52.873.00 \$94.41 \$52.873.00 \$94.41 \$52.873.00 \$94.41 \$52.873.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.41 \$52.832.00 \$94.83 \$94.83 \$95.40 \$94.83 \$95.40 \$94.83 \$94.83 \$94.93 \$94.94 \$94.83 \$94.94 \$94.83 \$94.94 \$94.83 \$94.94 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83 \$94.83			10		No Bid							
1:8 SPLICE TENSION AL 795 AUTO AAC (ARBUTUS), MUST BE 18,000 # 20 EA No. Bal \$2,273.00 No. Bal	5.16	SPLICE CU 4/0 COMPRESS. +	50	EA	No Bid	\$859.00	\$4.41		\$17.18	\$859.00	\$5.97	\$298.50
5.10 SPLICE TENSIONAL.477.556 AAC.1 30 EA \$33.18 \$995.40 \$\$4.30 \$16.290 994.41 \$2.283.200 No Bid \$2.283.200 No Bid \$2.283.200 No Bid \$52.835.50 \$4.30 \$537.50 \$4.17 \$52.12 No Bid \$52.835.50 \$4.30 \$537.50 \$4.31 \$52.23 No Bid \$2.283.200 No Bid \$52.200 \$52.200 \$52.200 \$52.200 \$52.200 \$52.200 \$52.200 \$52.200 \$52.250.05 \$54.80 \$2.088.00 \$50.490 \$54.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$56.90 \$5	5.17	SPLICE FULL TENSION, AL, 556+	5	EA	No Bid	\$1,618.60	\$30.99		\$323.72	\$1,618.60	\$41.95	\$209.75
5.20 SQUEEZON 301 #6.#6 +, 231 SQUEEZON COPPER BUTTON +, 523 No Bid SS3.50 \$53.45 SS2.208.00	5.18	SPLICE TENSION AL 795 AUTO AAC (ARBUTUS), MUST BE 18,000 #	20	EA	No Bid	\$2,873.00	\$143.65	\$2,873.00	No Bid	\$2,873.00	No Bid	\$2,873.00
5.21 SQUEZON COPPER BUTTON -) 600 E.A. No Bid \$2.2085.00 \$3.48 \$2.088.00 \$9.92 \$353.00 5.22 Estimated Delivery (Business Days) 1 No Bid 70.112 days 182 days 45 days No Bid 5.23 Special Order No Bid No Bid 14.0% 2.0% No Bid 5.23 Special Order Section E Total: \$82,045.95 \$22,259.05 \$88,667.70 \$29,047.55 Section E Total: \$82,045.95 \$22,259.05 \$88,667.70 \$29,047.55 Section E Total: \$80,045.35 \$12,42.60 \$54.56 \$654.72 6.1 CONNECTOR, SHOOTON, 40-40 30 EA \$6.56 \$12,80.00 \$103.55 \$12,42.60 \$55.75 \$15.75 6.2 CONNECTOR, SHOOTON, 40-470 60 EA \$44.11 \$52.06.60 \$35.73 \$16,05.30 \$14.76 \$35.35 \$21.71.00 \$11.80.89.90.00 No Bid \$12.20.55 \$44.11 \$52.06.60 \$35.70 \$22.05.35 \$32.16.11.00 \$14.76 \$35.35 \$21.71.60 \$22.05.75 \$32.90.00 <t< td=""><td>5.19</td><td>SPLICE TENSION,AL,477-556 AAC+</td><td>30</td><td>EA</td><td>\$33.18</td><td>\$995.40</td><td>\$54.30</td><td>\$1,629.00</td><td>\$94.41</td><td>\$2,832.30</td><td>No Bid</td><td>\$2,832.30</td></t<>	5.19	SPLICE TENSION,AL,477-556 AAC+	30	EA	\$33.18	\$995.40	\$54.30	\$1,629.00	\$94.41	\$2,832.30	No Bid	\$2,832.30
5.21 SQUEZON COPPER BUTTON -) 600 E.A. No Bid \$2.2085.00 \$3.48 \$2.088.00 \$9.92 \$353.00 5.22 Estimated Delivery (Business Days) 1 No Bid 70.112 days 182 days 45 days No Bid 5.23 Special Order No Bid No Bid 14.0% 2.0% No Bid 5.23 Special Order Section E Total: \$82,045.95 \$22,259.05 \$88,667.70 \$29,047.55 Section E Total: \$82,045.95 \$22,259.05 \$88,667.70 \$29,047.55 Section E Total: \$80,045.35 \$12,42.60 \$54.56 \$654.72 6.1 CONNECTOR, SHOOTON, 40-40 30 EA \$6.56 \$12,80.00 \$103.55 \$12,42.60 \$55.75 \$15.75 6.2 CONNECTOR, SHOOTON, 40-470 60 EA \$44.11 \$52.06.60 \$35.73 \$16,05.30 \$14.76 \$35.35 \$21.71.00 \$11.80.89.90.00 No Bid \$12.20.55 \$44.11 \$52.06.60 \$35.70 \$22.05.35 \$32.16.11.00 \$14.76 \$35.35 \$21.71.60 \$22.05.75 \$32.90.00 <t< td=""><td>5.20</td><td>SQUEEZON 301 #6-#6 +\</td><td>125</td><td>EA</td><td>\$2.46</td><td>\$583.50</td><td>\$4.30</td><td>\$537.50</td><td>\$4.17</td><td>\$521.25</td><td>No Bid</td><td>\$583.50</td></t<>	5.20	SQUEEZON 301 #6-#6 +\	125	EA	\$2.46	\$583.50	\$4.30	\$537.50	\$4.17	\$521.25	No Bid	\$583.50
1 70-112 days 182 days 45 days No Bid 5.23 Special Order 1 % Discount No Bid 14.0% .20% No Bid Section E Total: \$\$2,259.05 \$\$22,259.05 \$\$28,667.70 \$\$29,047.55 SECTION F: CONNECTOR, SHOOTON, 36 AAC-336AAC 12 EA \$\$41.75 \$\$01.00 \$\$10.255 \$\$1,242.60 \$\$45.45 \$\$55.7 \$\$167.70 6.1 CONNECTOR, SHOOTON, 470.40 30 EA \$\$55.6 \$\$106.80 \$\$42.66 \$\$20.53 \$\$13.55 \$\$11.75 6.4 CONNECTOR, SHOOTON, 477.556AAC-430 60 EA \$\$44.11 \$\$2.646.00 \$\$26.73 \$\$1.003.80 \$\$2.46 \$\$14.760 \$\$35.35 \$\$1176.75 6.5 CONNECTOR, SHOOTON, 556AAC-470 60 EA \$\$44.11 \$\$2.646.00 \$\$26.73 \$\$1.003.80 \$\$2.46 \$\$147.60 \$\$35.35 \$\$1176.75 6.6 CONNECTOR, SHOOTON, 556AAC-472CSR/#2 150 EA \$\$45.30 \$\$6.111 \$\$20.600.00 \$\$1.411.20 \$\$0.76 \$\$1.411.20 \$\$0.76 \$\$1.411.20 \$\$0.76 \$\$1.411.20 \$\$0.76 \$\$1.411.20 \$\$0.76 \$\$1.453.05 \$\$1.21.20 \$\$0.637 \$\$1.425.05 \$\$22.05 \$\$1.85.0			600		No Bid		\$0.68	\$408.00	\$3.48	\$2,088.00	\$0.92	\$552.00
1 % Discount No. Bid 14.0% 2.0% No. Bid Section E Total: \$82,645.95 \$22,259.05 \$88,667.70 \$29,047.55 SECTION F: CONNECTOR, SHOOT-ON AMP 6.1 CONNECTOR, SHOOTON, 340.40 30 EA \$55.5 \$103.55 \$11.242.60 \$54.56 \$564.72 6.2 CONNECTOR, SHOOTON, 40.40 30 EA \$55.65 \$106.80 \$12.26 \$106.30 \$2.46 \$147.00 \$55.7 \$12.42.60 \$54.56 \$564.72 6.2 CONNECTOR, SHOOTON, 470.40 60 EA \$44.11 \$2.046.60 \$2.64 \$147.00 \$10.63.80 \$2.46 \$147.00 \$33.53 \$2.121.00 6.5 CONNECTOR, SHOOTON, 477.556AAC-477 500 EA \$43.20 \$21.600.00 \$18.78 \$9.390.00 \$35.90 \$17.950.00 6.6 CONNECTOR, SHOOTON, 556AAC-20ACSR./r2 150 EA \$44.11 \$22.05 \$44.11 \$20.05 \$32.03 \$1.845.30 \$61.51 \$1.845.30 \$61.51 <			1		70-		182	days	45		1	
SECTION F: CONNECTOR, SHOOTON, AMP Image: state st			1	% Discount		2						
SECTION F: CONNECTOR, SHOOTON, AMP Image: state st			Sect	ion E Total:	\$82,645.95		\$22,	259.05			\$2	9,047.55
6.1 CONNECTOR, SHOOTON, 336 AAC-336AAC 12 EA \$41.75 \$501.00 \$41.75 \$501.00 \$103.55 \$1.242.60 \$54.56 \$654.72 6.2 CONNECTOR, SHOOTON, 477.556AAC-336 5 EA \$6.56 \$115.00 No Bid \$106.80 \$5.57 \$116.70 6.4 CONNECTOR, SHOOTON, 477.556AAC-340 60 EA \$44.11 \$22.055 \$35.80 \$13.400 No Bid \$147.60 \$35.35 \$17.10 6.5 CONNECTOR, SHOOTON, 477.556AAC-447 500 EA \$43.20 \$21.600.00 \$18.78 \$93.900.00 \$18.78 \$93.900.00 \$18.75 \$1.003.80 \$2.46 \$14.760 \$35.35 \$17.210 6.6 CONNECTOR, SHOOTON, 5756AAC-477 500 EA \$43.20 \$1.411.20 \$47.44 \$1.411.20 \$10.850.00 \$18.853.00 \$10.850.00 \$18.873.00 \$10.850.00 \$18.77.20 \$18.45.30 \$61.51 \$11.845.30 \$61.51 \$11.845.30 \$61.51 \$11.845.30 \$61.51 \$11.845.30 \$61.57 \$10.700.755AAC-40 \$20.75 \$34.406.00 \$10.750.757.40 \$22.055 \$32.00 <	SECTI	ON F: CONNECTORS-SHOOT-ON AMP				,	. ,		· · · ·	,		,
6.2 CONNECTOR, SHOOTON, 40-40 30 EA \$6.56 \$196.80 \$8.26 \$127.80 No Bid \$196.80 \$5.57 \$167.10 6.3 CONNECTOR, SHOOTON, 477/556AAC-470 60 EA \$44.11 \$220.55 \$26.80 \$23.30 \$23.45 \$137.60 \$53.35 \$21.21.00 6.4 CONNECTOR, SHOOTON, 477/556AAC-477 500 EA \$43.20 \$17.950.00 \$18.45.30 \$52.67.30 \$1.603.80 \$2.4.6 \$137.80 \$9.390.00 \$35.35 \$1.795.00 \$61.51 \$1.845.30 \$6.151 \$1.845.30 \$6.151 \$1.845.30 \$6.61.51 \$1.845.30 \$6.61.51 \$1.845.30 \$6.61.51 \$1.845.30 \$6.61.51 \$1.845.30 \$6.61.51 \$1.845.30 \$6.61.51 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.845.30 \$1.90.700 \$5.63.47.30 \$1.845.30 \$1.90.700 \$5.63.47.30 \$1.845.30 \$1.845.30 \$1.90.700 \$5.63.47			12	EA	\$41.75	\$501.00	\$41.75	\$501.00	\$103 55	\$1 242 60	\$54.56	\$654.72
6.3 CONNECTOR, SHOOTON, 477/556AAC-336 5 EA \$44.11 \$220.55 \$35.35 \$176.75 6.4 CONNECTOR, SHOOTON, 477/556AAC-40 60 EA \$44.11 \$22.646.60 \$26.73 \$1,603.80 \$2.46 \$147.60 \$35.35 \$21,21.00 6.5 CONNECTOR, SHOOTON, 477/556AAC-477 500 EA \$43.20 \$21,600.00 \$18.78 \$9,390.00 \$No Bid \$9,390.00 \$35.95 \$17,950.00 6.6 CONNECTOR, SHOOTON, 556.76 30 EA \$47.04 \$1,411.20 \$87.04 \$1,411.20 \$87.04 \$1,411.20 \$87.04 \$1,411.20 \$87.04 \$1,411.20 \$87.04 \$1,411.20 \$87.04 \$1,411.20 \$87.04 \$1,411.20 \$87.04 \$1,400.00 \$16.61 \$1,85.40 \$1,695.00 \$16.93 \$1,800.00 \$16.85 \$1,800.00 \$16.85 \$1,800.00 \$16.85 \$1,800.00 \$16.85 \$1,800.00 \$16.85 \$1,800.00 \$16.85 \$1,800.00 \$16.85 \$1,800.00 \$16.85 \$1,800.00 \$16.85 \$16.10 \$10000000, \$56,40 \$1,802.40 \$1,802.40 \$1,802.40 \$1,800.20 </td <td></td>												
6.4 CONNECTOR, SHOOTON, 477/556AAC-407 60 EA \$44.11 \$2,646.60 \$26.73 \$1,603.80 \$2,46 \$147.60 \$33.35 \$2,121.00 6.5 CONNECTOR, SHOOTON, 477/556AAC-477 500 EA \$43.20 \$21,600.00 \$18,78 \$9,390.00 No Bid \$9,390.00 \$35.90 \$17,950.00 6.6 CONNECTOR, SHOOTON, 556AAC-420ACSR#2 150 EA \$44.30 \$1,411.20 No Bid \$\$8,870.00 \$26.73 \$4,009.50 No Bid \$\$6,870.00 \$36.63 \$\$5,494.50 \$6.66 \$600NECTOR, SHOOTON, 556AAC-20ACSR#2 \$5 EA \$44.11 \$\$220.55 \$\$44.11 \$\$220.55 \$\$600 \$43.20 \$1,296.00 \$No Bid \$\$1,695.00 \$55.65 \$1,695.00 \$56.65 \$1,695.00 \$56.65 \$1,695.00 \$56.65 \$1,695.00 \$56.65 \$1,695.00 \$56.65 \$1,695.00 \$56.65 \$1,695.00 \$56.65 \$1,695.00 \$56.65 \$1,695.00 \$56.65 \$1,695.00 \$56.17 \$1,45.35 \$12.01.9 \$600.95 \$1,675.40 \$1,675.40 \$1,675.40 \$1,675.40 \$1,675.40 \$1,675.40 \$1,675.43 <td></td> <td></td> <td>5</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>			5									
6.5 CONNECTOR, SHOOTON, 477/556AAC-477 500 EA \$43.20 \$21,600.00 \$18.78 \$9,390.00 \$0.81d \$9,390.00 \$35.90 \$17,950.00 6.6 CONNECTOR, SHOOTON, 556.46C 30 EA \$47.04 \$1,411.20 \$47.04 \$1,411.20 \$47.04 \$1,411.20 \$6.87.00 \$18,87.8 \$9,390.00 \$18,87.8 \$9,390.00 \$18,87.8 \$9,390.00 \$18,87.8 \$9,390.00 \$18,87.8 \$9,390.00 \$18,87.8 \$9,390.00 \$18,87.8 \$9,390.00 \$18,87.8 \$9,390.00 \$18,87.8 \$9,390.00 \$18,87.8 \$1,411.20 \$6,110 \$1,411.20 \$4,111 \$1,411.20 \$4,111 \$1,220.55 \$1,411.20 \$1,412.20 \$1,411.20 \$1,411.20 \$1,411			60									
6.6 CONNECTOR, SHOOTON, 556.5+46 30 EA \$47.04 \$1,411.20 No Bid \$1,845.30 \$61.51 \$1,845.30 6.7 CONNECTOR, SHOOTON, 556.AC-#2ACSR/#2 150 EA \$44.00 \$26.73 \$4,009.50 No Bid \$62.70.0 \$36.63 \$5,494.50 6.8 CONNECTOR, SHOOTON, 556.AAC-20ACSRCU 5 EA \$44.11 \$52.05 \$84.11 \$52.05 No Bid \$1,095.00 \$36.50 \$1,695.00 6.9 CONNECTOR, SHOOTON, 556.AAC-20ACSRCU 5 EA \$44.11 \$52.05 \$81.01 \$1,095.00 \$56.50 \$1,695.00 6.10 CONNECTOR, SHOOTON, 795.AAC-470.0 15 EA \$91.91 \$459.55 \$229.07 \$34,360.50 \$12.019 \$1,802.85 6.12 CONNECTOR, SHOOTON, 795.AAC-477.AAC 150 EA \$91.91 \$1,378.65 \$91.91 \$1,378.65 \$229.07 \$34,360.50 \$12.019 \$1,802.85 6.12 CONNECTOR, SHOOTON, 795.AAC-477.AAC 150 EA \$91.91 \$1,378.65 \$92.92.07 \$34,360.50 \$12.019 \$18.028.50 6.13 CONNECTOR, SHOOTON,												
6.7 CONNECTOR, SHOOTON, 556AAC-42ACSR/#2 150 EA \$45.80 \$6,870.00 \$26.73 \$4,009.50 No Bid \$6,870.00 \$36.63 \$5,494.50 6.8 CONNECTOR, SHOOTON, 556AAC-20ACSRCU 5 EA \$44.11 \$220.55 \$44.11 \$220.55 \$87.20 \$186.00 6.9 CONNECTOR, SHOOTON, 556AAC-20ACSRCU 5 EA \$43.20 \$1,296.00 \$No Bid \$1,895.00 \$56.55 \$1,695.00 \$56.55 \$1,695.00 \$56.55 \$1,095.00 \$1,055.00 \$1,055.00 \$1,055.00 \$1,055.00 \$1,055.00 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,019 \$1,020.85 \$1,021.95 \$1,020.85 \$1,021.95 \$1,020.85 \$1,021.95 \$1,020.85 \$1,021.95 \$1,020.85 \$1,021.95 \$1,020.85 \$1,021.95 \$1,020.85 \$1,021.95 \$1,021.95								. /				
6.8 CONNECTOR, SHOOTON, 556AAC-20ACSRCU 5 EA \$44.11 \$220.55 \$44.11 \$220.55 \$37.20 \$186.00 6.9 CONNECTOR, SHOOTON, 556AAC-356AAC 30 EA \$43.20 \$1,296.00 \$43.20 \$1,296.00 \$51.20 \$51.695.00 \$51.695.00 \$61.0 CONNECTOR, SHOOTON, 795AAC-336AAC \$5 EA \$91.91 \$4359.55 \$91.91 \$4359.55 \$229.07 \$1,145.35 \$120.19 \$600.95 \$61.1 CONNECTOR, SHOOTON, 795AAC-470 \$15 EA \$91.91 \$1,3786.50 \$91.91 \$1,3786.50 \$229.07 \$34,360.50 \$120.19 \$18,022.85 \$12.01.9 \$18,022.85 \$12.01.9 \$18,028.50 6.12 CONNECTOR, SHOOTON, 795AAC-477AAC 150 EA \$91.91 \$13,786.50 \$91.91 \$18,382.00 \$63.37 \$12,674.00 \$77.40 \$2,322.00 \$61.17 \$1,835.10 No Bid \$2,807.70 \$77.40 \$2,322.00 \$61.17 \$1,835.10 No Bid \$52.85 \$110.57 \$552.85 \$10.57 \$552.85 \$10.57 \$552.85 \$10.57 \$552.85 \$10.57 \$552.85 \$10.75 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>												
6.9 CONNECTOR, SHOOTON, 556AAC-556AAC 30 EA \$43.20 \$1,296.00 \$43.20 \$1,296.00 No Bid \$1,695.00 \$56.50 \$1,695.00 6.10 CONNECTOR, SHOOTON, 795AAC-336AAC 5 EA \$91.91 \$459.55 \$91.91 \$459.55 \$91.91 \$459.55 \$91.91 \$1,378.65 \$92.907 \$1,45.35 \$120.19 \$1800705 6.11 CONNECTOR, SHOOTON, 795AAC-477AAC 150 EA \$91.91 \$13,786.55 \$92.907 \$34,360.50 \$120.19 \$18,028.50 6.12 CONNECTOR, SHOOTON, 795AAC-477AAC 150 EA \$91.91 \$13,786.55 \$91.91 \$13,786.50 \$22.907 \$34,360.50 \$120.19 \$18,028.50 6.13 CONNECTOR, SHOOTON, 795AAC-475AAC 200 EA \$91.91 \$18,382.00 \$63.37 \$12,674.00 \$70.17 \$14.034.00 6.14 CONNECTOR, SHOOTON 795AAC-795AAC 30 EA \$84.55 \$422.75 \$84.55 \$422.75 \$84.55 \$422.75 \$84.55 \$422.75 \$84.55 \$422.75 \$84.55 \$422.75 \$84.55 \$422.75 \$84.55 \$422.			5									
6.10 CONNECTOR, SHOOTON, 795AAC-336AAC 5 EA \$91.91 \$459.55 \$\$229.07 \$1,145.35 \$120.19 \$600.95 6.11 CONNECTOR, SHOOTON, 795AAC-4/0 15 EA \$91.91 \$1,378.65 \$91.91 \$1,378.65 No Bid \$1,802.85 \$120.19 \$1,802.85 6.12 CONNECTOR, SHOOTON, 795AAC-477AAC 150 EA \$91.91 \$13,786.50 \$229.07 \$34,360.50 \$120.19 \$18,028.50 6.13 CONNECTOR, SHOOTON, 795AAC-4775AAC 200 EA \$91.91 \$13,786.50 \$229.07 \$34,360.50 \$120.19 \$18,028.50 6.13 CONNECTOR, SHOOTON, 795AAC-795AAC 200 EA \$91.91 \$18,382.00 \$63.37 \$12,074.00 \$71.47 \$14,034.00 6.14 CONNECTOR, SHOOTON 795AAC-795AAC 30 EA \$89.59 \$2,807.70 \$61.17 \$1,835.10 No Bid \$52,85 \$11.057 \$51.85 \$422.75 No Bid \$52,85 \$10.57 \$52.85 \$61.17 \$18,474.01 \$52.85 \$10.57 \$52.85 \$10.57 \$51.85 \$422.75 No Bid \$52.85 \$10.76<			30									
6.11 CONNECTOR, SHOOTON, 795AAC-4/0 15 EA \$91.91 \$1.378.65 \$91.91 \$1.378.65 No Bid \$1.802.85 \$12.019 \$1.802.85 6.12 CONNECTOR, SHOOTON, 795AAC-477AAC 150 EA \$91.91 \$13,786.50 \$229.07 \$34,360.50 \$12.019 \$18,028.50 6.13 CONNECTOR, SHOOTON, 795AAC-477AAC 200 EA \$91.91 \$18,382.00 \$63.37 \$12,674.00 \$77.40 \$2,280.70 6.14 CONNECTOR, SHOOTON, 795AAC-795AAC 30 EA \$93.59 \$2,280.70 \$61.17 \$1,832.10 \$0.03.37 \$12,674.00 \$77.40 \$2,322.00 6.15 INLINE SWITCH SHOOTON 477 5 EA \$84.55 \$422.75 \$84.55 \$422.75 No Bid \$552.85 \$110.57 \$552.85 6.16 INLINE SWITCH SHOOTON 795 5 EA \$84.55 \$422.75 \$84.55 \$422.75 No Bid \$552.85 \$110.57 \$552.85 6.17 SHELLS, AMPACT YELLOW 2,000 EA \$3.85 \$77.00.00 \$2.00 \$40,00.00 No Bid \$77.00.00 \$3.6 \$71.			5									
6.12 CONNECTOR, SHOOTON, 795AAC-477AAC 150 EA \$91.91 \$13,786.50 \$229.07 \$34,360.50 \$12.01.9 \$18,028.50 6.13 CONNECTOR, SHOOTON, 795AAC-795AAC 200 EA \$91.91 \$18,382.00 \$91.91 \$18,382.00 \$63.37 \$12,674.00 \$70.17 \$14,034.00 6.14 CONNECTOR, SHOOTON, 795AAC-795AAC 30 EA \$93.59 \$2,807.70 \$61.17 \$18,382.00 \$63.37 \$12,674.00 \$70.17 \$14,034.00 6.15 INLINE SWITCH SHOOTON 477 5 EA \$84.55 \$422.75 No Bid \$52.85 \$110.57 \$52.85 6.16 INLINE SWITCH SHOOTON 795 5 EA \$84.55 \$422.75 No Bid \$52.85 \$110.57 \$552.85 6.17 SHELLS, AMPACT BLUE 30 EA \$3.85 \$11.50 \$1.97 \$59.10 \$10.78 \$323.40 \$2.60 \$78.00 6.18 SHELLS, AMPACT BLUE 30 EA \$8.34 \$2,490.20 \$4.000.00 No Bid \$2,700.00 \$3.56 \$7,120.00 6.19 STIRRUP, CONNECTOR, SHOOTON 477AAC			15									
6.13 CONNECTOR, SHOOTON, 795AAC-795AAC 200 EA \$91.91 \$18,382.00 \$96.3.37 \$12,674.00 \$70.17 \$14,034.00 6.14 CONNECTOR, SHOOTON, 795AAC-795AAC 30 EA \$93.59 \$2,807.70 \$61.17 \$1,835.10 No Bid \$2,807.70 \$77.40 \$2,322.00 6.15 INLINE SWITCH SHOOTON 477 5 EA \$84.55 \$422.75 \$84.55 \$422.75 No Bid \$52.85 \$110.57 \$552.85 6.16 INLINE SWITCH SHOOTON 795 5 EA \$84.55 \$422.75 \$84.55 \$422.75 No Bid \$52.85 \$110.57 \$552.85 6.17 SHELLS, AMPACT BLUE 30 EA \$3.85 \$115.50 \$1.97 \$52.40 \$2.60 \$78.00 6.18 SHELS, AMPACT YELLOW 2,000 EA \$83.14 \$2,494.20 \$43.07 \$1,292.10 No Bid \$7,700.00 \$3.56 \$7,120.00 6.20 STIRRUP, CONNECTOR, SHOOTON 477AC 30 EA \$87.95 \$87.94 \$8,794.00 No Bid \$11,500.00 \$11.500 \$11.690.00 \$11.690.00 \$11.												
6.14 CONNECTOR, SHOOTON, 795AAC-795AAC 30 EA \$93.59 \$2,807.70 \$61.17 \$1,835.10 No Bid \$2,807.70 \$77.40 \$2,322.00 6.15 INLINE SWITCH SHOOTON 477 5 EA \$84.55 \$422.75 \$84.55 \$422.75 No Bid \$552.85 \$110.57 \$552.85 6.16 INLINE SWITCH SHOOTON 795 5 EA \$84.55 \$422.75 \$84.55 \$422.75 No Bid \$552.85 \$110.57 \$552.85 6.17 SHELLS, AMPACT BLUE 30 EA \$3.85 \$17.700.00 \$2,000 \$10.78 \$323.40 \$2.60 \$700.00 6.18 SHELLS, AMPACT YELLOW 2,000 EA \$33.85 \$17.700.00 \$2,000 \$43.07 \$1,292.10 No Bid \$52.492.01 \$56.52 \$1,689.60 6.20 STIRRUP, CONNECTOR, SHOOTON 477AAC 30 EA \$87.95 \$8,795.00 \$87.94 \$8,794.00 \$06.id \$11,500.00 \$11.500.00 \$11.500.00 \$11.500.00 \$11.500.00 \$11.500.00 \$11.500.00 \$11.500.00 \$11.500.00 \$11.500.00 \$11.500.00 \$11.500.												
6.15 INLINE SWITCH SHOOTON 477 5 EA \$84.55 \$422.75 \$84.55 \$422.75 No Bid \$552.85 \$110.57 \$552.85 6.16 INLINE SWITCH SHOOTON 795 5 EA \$84.55 \$422.75 \$84.55 \$422.75 No Bid \$552.85 \$110.57 \$552.85 6.17 SHELLS, AMPACT BLUE 30 EA \$3.85 \$115.50 \$1.97 \$59.10 \$10.78 \$323.40 \$2.60 \$78.00 6.18 SHELLS, AMPACT YELLOW 2,000 EA \$3.85 \$7,700.00 \$2.00 \$44,000.00 No Bid \$7,700.00 \$3.56 \$7,120.00 6.19 STIRRUP, CONNECTOR, SHOOTON 477AAC 30 EA \$83.14 \$2,494.20 \$43.07 \$1,292.10 No Bid \$2,494.20 \$56.32 \$1,689.60 6.20 STIRRUP, CONNECTOR, SHOOTON 556 AAC 100 EA \$87.95 \$87.94 \$8,794.00 No Bid \$11,500.00 \$11,500.00 \$11,500.00 \$11,500.00 \$12,760.00 \$6.22 Estimated Delivery (Business Days) 1 84-112 days 17 days 70 days No Bid \$12,760.00<			-									
6.16 INLINE SWITCH SHOOTON 795 5 EA \$84.55 \$422.75 No Bid \$52.85 \$110.57 \$552.85 6.17 SHELLS, AMPACT BLUE 30 EA \$3.85 \$115.50 \$1.97 \$59.10 \$10.78 \$323.40 \$2.60 \$78.00 6.18 SHELLS, AMPACT YELLOW 2,000 EA \$3.85 \$7,700.00 \$2.00 \$4,000.00 No Bid \$7,700.00 \$3.56 \$7,120.00 6.19 STIRRUP, CONNECTOR, SHOOTON 477AAC 30 EA \$83.14 \$2,494.20 \$43.07 \$1,292.10 No Bid \$2,494.20 \$56.32 \$1,689.60 6.20 STIRRUP, CONNECTOR, SHOOTON 477AAC 100 EA \$87.95 \$8,795.00 \$87.94 \$8,794.00 No Bid \$11,500.00 \$11,500.00 \$11,500.00 \$11,500.00 \$12,760.00 \$2,250.00 \$0.83 \$14.635.00 \$17.60 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$12.760.00 \$10.50.10 \$10.6			5									
6.17 SHELLS, AMPACT BLUE 30 EA \$3.85 \$115.50 \$1.97 \$59.10 \$10.78 \$323.40 \$2.60 \$78.00 6.18 SHELLS, AMPACT YELLOW 2,000 EA \$3.85 \$7,700.00 \$2.00 \$4,000.00 No Bid \$7,700.00 \$3.56 \$7,120.00 6.19 STIRRUP, CONNECTOR, SHOOTON 477AAC 30 EA \$83.14 \$2,494.20 \$43.07 \$1,292.10 No Bid \$2,494.20 \$56.32 \$1,689.60 6.20 STIRRUP, CONNECTOR, SHOOTON 556 AAC 100 EA \$87.95 \$8,795.00 \$87.94 \$8,794.00 No Bid \$11,500.00 \$115.00 \$127.60 \$127.60 \$127.60 \$127.60 \$12.760.00 \$12.00			5									
6.18 SHELLS, AMPACT YELLOW 2,000 EA \$3.85 \$7,700.00 \$2.00 \$4,000.00 No Bid \$7,700.00 \$3.56 \$7,120.00 6.19 STIRUP, CONNECTOR, SHOOTON 477AAC 30 EA \$83.14 \$2,494.20 \$43.07 \$1,292.10 No Bid \$2,494.20 \$56.32 \$1,689.60 6.20 STIRUP, CONNECTOR, SHOOTON 556 AAC 100 EA \$87.95 \$87.94 \$8,794.00 No Bid \$11,500.00 \$115.00 \$11,500.00 \$11,500.00 \$11,500.00 \$11,500.00 \$11,500.00 \$11,500.00 \$11,500.00 \$11,500.00 \$12,760.00 \$2,200 No Bid \$14,635.00 \$12,760.00 \$14,0% \$2,0% \$10			30									
6.19 STIRUP, CONNECTOR, SHOOTON 477AAC 30 EA \$83.14 \$2,494.20 \$\$1,292.10 No Bid \$2,494.20 \$\$6.32 \$1,689.60 6.20 STIRUP, CONNECTOR, SHOOTON 556 AAC 100 EA \$87.95 \$87.95 \$87.94 \$8,794.00 No Bid \$11,500.00 \$115.00 \$11,500.00 \$115.00 \$11,500.00 \$115.00 \$11,500.00 \$115.00 \$11,500.00 \$11,500.00 \$11,500.00 \$11,500.00 \$12,760.00 \$12,770.00 \$10,770.00 \$10,770.00 \$10,770.00 \$10,770.00 \$10,770.00 \$10,770.00 \$10,770.00 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731.97 \$10,731	-											
6.20 STIRRUP, CONNECTOR, SHOOTON 556 AAC 100 EA \$87.95 \$8,794.00 No Bid \$11,500.00 \$115.00 \$11,500.00 6.21 STIRRUP, CONNECTOR, SHOOTON 795 AAC 100 EA \$146.35 \$14,635.00 \$97.59 \$9,759.00 No Bid \$14,635.00 \$127.60 \$12,760.00 6.22 Estimated Delivery (Business Days) 1 84-112 days 117 days 70 days No Bid 6.23 Special Order 1 % Discount 14.0% 2.0% No Bid \$10,331.97 SECTION G: CUTOUTS-ABB 7.1 CUTOUT BLADE SOLID FOR ABB + 10 EA No Bid \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00												
6.21 STIRUP, CONNECTOR, SHOOTON 795 AAC 100 EA \$14.635 \$14.635.00 \$97.59 \$9,759.00 No Bid \$14.635.00 \$12,760.00 6.22 Estimated Delivery (Business Days) 1 84-112 days 117 days 70 days No Bid 6.23 Special Order 1 % Discount 14.0% 2.0% No Bid Section F Total: \$106,362.30 \$79,285.35 \$112,377.10 \$101,331.97 SECTION G: CUTOUTS-ABB 7.1 CUTOUT BLADE SOLID FOR ABB + 10 EA No Bid \$2,250.00 \$2,250.00 No Bid \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 </td <td>-</td> <td></td>	-											
6.22 Estimated Delivery (Business Days) 1 84-112 days 117 days 70 days No Bid 6.23 Special Order 1 % Discount 14.0% 2.0% No Bid Section F Total: \$106,362.30 \$79,285.35 \$112,377.10 \$101,331.97 SECTION G: CUTOUTS-ABB 7.1 CUTOUT BLADE SOLID FOR ABB + 10 EA No Bid \$2,250.00 \$2,250.00 No Bid \$2,250.00 \$2,250.00 No Bid \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.												
6.23 Special Order 1 % Discount 14.0% 2.0% No Bid Section F Total: \$106,362.30 \$79,285.35 \$112,377.10 \$101,331.97 SECTION G: CUTOUTS-ABB 7.1 CUTOUT BLADE SOLID FOR ABB + 10 EA No Bid \$2,250.00 No Bid \$2,250.00 No Bid \$2,250.00 No Bid \$2,250.00			100	LA								
Section F Total: \$106,362.30 \$79,285.35 \$112,377.10 \$101,331.97 SECTION G: CUTOUTS-ABB 7.1 CUTOUT BLADE SOLID FOR ABB + 10 EA No Bid \$2,250.00 \$2,250.00 No Bid \$2,250.00 No Bid \$2,250.00 No Bid \$2,250.00 \$2,250.00 No Bid \$2,250.00 No Bid \$2,250.00 No Bid \$2,250.00 \$2,250.00 No Bid \$2,250.00 \$2,250.00 \$2,250.00 No Bid \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00 \$2,250.00			1	% Discourt	84-	112 uays				2		
SECTION G: CUTOUTS-ABB 7.1 CUTOUT BLADE SOLID FOR ABB + 10 EA No Bid \$2,250.00 \$225.00 \$2,250.00 No Bid \$2,250.00	0.23	Special Older	11 Fact									
7.1 CUTOUT BLADE SOLID FOR ABB + 10 EA No Bid \$2,250.00 \$2,250.00 No Bid \$2,250.00 No Bid \$2,250.00	SECTI	ON C. CUTOUTS ADD	Sec	ion r Total:	\$10	0,302.30	\$1 9 ,	203.33	\$112	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$10	1,331.97
			10	EA	M. D. I	¢0.050.00	\$305 AA	\$3 350 CO	N. D. I	¢2.250.00	M. D. I	\$2.250.00
1.2 [UTUUT BLADE, SULID, ABB + [10] [EA [No Bid] \$555.00 No Bid] \$555.00 No Bid \$555.00												
	1.2	CUIUUI DLADE, SULID, ADD +	10	EA	NO BId	<i>\$</i> 333.00	φοο.ου	\$ 555.00	NO BId	φ333.00	NO BIA	φ333.00

Responde	ent's Bus	siness Name:		Electrical butors, Inc.	Techli	ne, Inc.	Apfelbaum Industrial Inc		Stua	rt C. Irby
Principal Place of Busin			Br	yan, TX	Fort W	orth, TX	El Pa	aso, TX	Fort V	Worth, TX
Line # Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
7.3 CUTOUT DOOR 200 AMP +	20	EA	No Bid	\$4,700.00	\$235.00	\$4,700.00	No Bid	\$4,700.00	No Bid	\$4,700.00
7.4 CUTOUT, 200AMP (ABB ONLY) 15KV+	80	EA	No Bid	\$15,840.00	\$198.00	\$15,840.00	No Bid	\$15,840.00	No Bid	\$15,840.00
7.5 Estimated Delivery (Business Days)	1		8	4 days	84 0	days	84	days	N	o Bid
7.6 Special Order	1	% Discount				.0%		o Bid		o Bid
	Sect	ion G Total:	\$23	3,345.00	\$23,3	345.00	\$23,	345.00	\$23	,345.00
SECTION H: FIBERGLASS PRODUCTS										
8.1 ARM, DEADEND, 10' HD FBGLS +	75	EA	\$356.76	\$26,757.00	\$372.00	\$27,900.00	No Bid	\$38,138.25	\$508.51	\$38,138.25
8.2 ARM, DEADEND, FBRGLS HD 8', 10K+	75	EA	\$360.05	\$27,003.75	\$330.00	\$24,750.00	No Bid	\$33,311.25	\$444.15	\$33,311.25
8.3 ARM, FBRGLS, SLIM LINE 18" +	10	EA	\$83.48	\$834.80	\$90.52	\$905.20	\$296.48	\$2,964.80	\$1.00	\$10.00
8.4 ARM, TANGENT FBRGLASS HD 8' +	5	EA	\$348.88	\$1,744.40	\$268.00	\$1,340.00	No Bid	\$1,744.40	\$221.31	\$1,106.55
8.5 BRACKET, F/GLASS POTHEAD 1PH +	40	EA	\$55.81	\$2,232.40	\$63.50	\$2,540.00	\$223.75	\$8,950.00	\$83.50	\$3,340.00
8.6 BRACKET, F/GLASS POTHEAD 3PH+	60	EA	\$222.38	\$13,342.80	\$128.00	\$7,680.00	No Bid	\$13,342.80	\$197.25	\$11,835.00
8.7 BRACKET, FIBERGLASS 18" +	5	EA	\$46.86	\$234.30	\$46.86	\$234.30	No Bid	\$268.90	\$53.78	\$268.90
8.8 Estimated Delivery (Business Days)	1		28 -	-364 days	252	days	270) days	N	lo Bid
8.9 Special Order	1	% Discount	(0.01%	14	.0%	1	.0%		1.0%
	Sect	ion H Total:	\$72	2,149.45	\$65,3	349.50	\$98,	720.40	\$88	,009.95
SECTION I: FIBER ACCESSORIES										
9.1 1715 DEADEND, THE OUTSIDE DIAMETER IS OD .661"	200	EA	\$75.41	\$15,082.00	\$80.13	\$16,026.00	No Bid	\$16,026.00	No Bid	\$16,026.00
9.2 SUPPORT, IN LINE PLP, OD .661		EA	No Bid	\$15,860.00	\$39.65	\$15,860.00	No Bid	\$15,860.00	No Bid	\$15,860.00
9.3 Estimated Delivery (Business Days)	1			0 days		days		o Bid		o Bid
9.4 Special Order	1	% Discount		No Bid		.0%	No Bid		No Bid	
	Sec	tion I Total:		\$30,942.00		386.00	\$31,886.00			,886.00
SECTION J: FORMED WIRE			+++	.,,	+,-		++ - ,		40-	,
10.1 MOLDING, GUY GUARD, YELLOW 8'+	325	EA	\$4.21	\$1,368.25	\$4.48	\$1,456.00	\$40.21	\$13,068.25	No Bid	\$13,068.25
10.2 TIE, DOUBLE SIDE 556.5 +	50	EA	\$17.91	\$895.50	\$19.03	\$951.50	\$59.93	\$2,996.50	\$29.15	\$1,457.50
10.3 TIE, DOUBLE SIDE FOR 795 +	50	EA	\$19.53	\$976.50	\$20.75	\$1,037.50	No Bid	\$1,590.00	\$31.80	\$1,590.00
10.4 TIE, DOUBLESUPORT 556.5 19W AL+		EA	\$21.18	\$5,295.00	\$21.95	\$5,487.50	\$70.86	\$17,715.00	\$26.94	\$6,735.00
10.5 TIE, DOUBLESUPORT 795 37W AL+	50	EA	\$23.14	\$1,157.00	\$24.58	\$1,229.00	\$59.26	\$2,963.00	\$29.58	\$1,479.00
10.6 TIE, SPOOL 4/0 BARE AL EZ-WRAP+	150	EA	\$2.89	\$433.50		\$687.00	\$13.29	\$1,993.50	\$5.63	\$844.50
10.7 TIE, SPOOL FOR 556.5 +		EA	\$7.33	\$1,099.50		\$1,167.00	\$9.01	\$1,351.50	\$11.94	\$1,791.00
10.8 TIES SERVICE GRIP #2 +\		EA	\$1.01	\$1,010.00	\$1.07	\$1,070.00	\$4.28	\$4,280.00	\$1.43	\$1,430.00
10.9 TIES SERVICE GRIP #4 + \		EA	\$0.76	\$228.00		\$261.00	\$2.87	\$861.00	\$1.43	\$429.00
10.10 TIES SERVICE GRIP $4/0 +$		EA	\$1.56	\$312.00	\$2.55	\$510.00	\$6.87	\$1,374.00	\$3.18	\$636.00
10.11 TIES TOP FOR 795 ARBUTUS +	400	EA	\$12.87	\$5,148.00	\$13.33	\$5,332.00	No Bid	\$8,380.00	\$20.95	\$8,380.00
10.12 TIES TOP FOR AL 556 AAC MISTLETOE+		EA	\$12.01	\$9,608.00	\$12.45	\$9,960.00	\$40.21	\$32,168.00	\$19.55	\$15,640.00
10.13 TIES, SERVICE GRIP $2/0 + $		EA	\$2.30	\$460.00		\$476.00	\$5.17	\$1.034.00	\$3.75	\$750.00
10.14 WIRE, GUY CAGE DISP + \backslash		EA	\$7.90	\$592.50		\$686.25	\$14.21	\$1,065.75		\$810.00
10.15 Estimated Delivery (Business Days)	1			4 days		days		days		o Bid
10.16 Special Order	1	% Discount		No Bid	· · · · · · · · · · · · · · · · · · ·			.0%		o Bid
	Sect	tion J Total:		\$28,583.75		310.75		840.50		,040.25
SECTION K: FOUNDATION PRODUCTS			+=0	,	+- v)e		÷, 0,		400	
11.1 BOX, STREETLIGHT 12X12 W/ ELECTRIC ON LID & 3/8" LARGE PENTA HEAD BOLTS	100	EA	No Bid	\$23,000.00	\$230.00	\$23,000.00	No Bid	\$23,000.00	No Bid	\$23,000.00
11.2 RACK, CABLE 36" X 4" +		EA	\$66.00	\$1,980.00		\$2,190.00	No Bid	\$2,190.00		\$2,190.00
11.3 Estimated Delivery (Business Days)	1			21 days		42,190.00		5 Bid		-
11.4 Special Order	1	% Discount	No Bid			.0%		o Bid	No Bid No Bid	
	Sect	ion K Total:				\$25,190.00		\$25,190.00		
SECTION L: FUSING AND PROTECTION-KEARNEY		φ2-	.,, :::::::::::::::::::::::::::::::::::	دو ت هم ب		φ23,		φ25	,1,2,0,00	
12.1 FUSE LINK, 10 AMP T + \	200	EA	\$6.01	\$1,202.00	No Bid	\$2,658.00	\$13.29	\$2,658.00	\$7.63	\$1,526.00
12.1 FUSE LINK, 10 AMP T + $($		EA	\$12.62	\$1,202.00		\$2,038.00	\$13.29	\$2,638.00		\$1,320.00
	150	LA	φ12.0Z	φ 1,09 5.00	NO BIU	φ5,550.00	φ22.24	φ5,550.00	φ10.03	φ2,404.30

Exhibit 2 IFB 8176 - Bid Tabulation for Electric Utility Distribution Hardware

	Respondent's Business Nam				Electrical outors, Inc.	Techli	ne, Inc.	Apfelbaum Industrial Inc		Stua	rt C. Irby
	Principal Place of Busin	ness (C	ity and State):	Br	yan, TX	Fort W	orth, TX	El P	aso, TX	Fort	Worth, TX
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
12.3	FUSE LINK, 12 AMP T +	75	EA	\$6.01	\$450.75	No Bid	\$1,668.00	\$22.24	\$1,668.00	\$7.63	\$572.25
12.4	FUSE LINK, 140 AMP T +\	50	EA	\$32.46	\$1,623.00	No Bid	\$2,060.00	\$22.24	\$1,112.00	\$41.20	\$2,060.00
	FUSE LINK, 15 AMP T + \langle	100	EA	\$6.01	\$601.00	No Bid	\$1,216.00	\$12.16	\$1,216.00	\$7.63	\$763.00
12.6	FUSE LINK, 2 AMP T + $\$	5	EA	\$7.21	\$36.05	No Bid	\$111.20	\$22.24	\$111.20	\$9.15	\$45.75
12.7	FUSE LINK, 20 AMP T + \langle	75	EA	\$6.01	\$450.75	No Bid	\$961.50	\$12.82	\$961.50	\$7.63	\$572.25
12.8	FUSE LINK, 25 AMP T + \langle	50	EA	\$6.01	\$300.50	No Bid	\$646.50	\$12.93	\$646.50	\$7.63	\$381.50
12.9	FUSE LINK, 3 AMP T +\	75	EA	\$6.01	\$450.75	No Bid	\$1,008.75	\$13.45	\$1,008.75	\$7.63	\$572.25
	FUSE LINK, 30 AMP T +\	50	EA	\$6.61	\$330.50	No Bid	\$2,409.00	\$48.18	\$2,409.00	\$8.40	\$420.00
12.11	FUSE LINK, 40 AMP T +	125	EA	\$7.21	\$901.25	No Bid	\$4,053.75	\$32.43	\$4,053.75	\$9.15	\$1,143.75
12.12	FUSE LINK, 50 AMP K +	100	EA	\$6.61	\$661.00	No Bid	\$3,604.00	\$36.04	\$3,604.00	\$8.40	\$840.00
	FUSE LINK, 50 AMP T +\	50	EA	\$6.92	\$346.00	No Bid	\$2,409.00	\$48.18	\$2,409.00	\$8.77	\$438.50
	FUSE LINK, 6 AMP T + \	225	EA	\$6.01	\$1,352.25	No Bid	\$2,677.50	\$11.90	\$2,677.50	\$7.63	\$1,716.75
	FUSE LINK, 65 AMP T + \langle	350	EA	\$11.42	\$3,997.00	No Bid	\$10,363.50	\$29.61	\$10,363.50	\$14.49	\$5,071.50
	FUSE LINK, 8 AMP T +\	10	EA	\$6.01	\$60.10	No Bid	\$115.80	\$11.58	\$115.80	\$7.63	\$76.30
	FUSE LINK, 80 AMP T +\	50	EA	\$13.22	\$661.00	No Bid	\$839.00	No Bid	\$839.00	\$16.78	\$839.00
	FUSE, BUTTON FOR 200A CUTOUT+	150	EA	No Bid	\$1,659.00	No Bid	\$1,659.00	No Bid	\$1,659.00	\$11.06	\$1,659.00
	Estimated Delivery (Business Days)	1			0 days		Bid		5 days		-74 days
	Special Order	1	% Discount		lo Bid		Bid		o Bid		No Bid
		Sec	tion L Total:		5,975.90		96.50		,848.50		,102.30
SECTI	ON M: FUSING AND PROTECTION-S&C FUSES					. ,					,
	FUSE, S&C 100E +	5	EA	\$200.00	\$1,000.00	\$225.00	\$1,125.00	\$363.48	\$1,817.40	\$236.00	\$1,180.00
	FUSE, S&C 10E +	5	EA	\$200.00	\$1,000.00	\$225.00	\$1,125.00	\$185.30	\$926.50		\$1,180.00
	FUSE, S&C 125E +	15	EA	\$200.00	\$3,000.00	\$225.00	\$3,375.00	\$555.90	\$8,338.50		\$3,540.00
	FUSE, S&C 150E +	15	EA	\$200.00	\$3,000.00	\$225.00	\$3,375.00	\$453.99	\$6,809.85		\$3,540.00
	FUSE, S&C 1501 +	5	EA	\$200.00	\$1,000.00	\$225.00	\$1,125.00	\$315.01	\$1,575.05		\$1,180.00
	FUSE, S&C 20E	5	EA	\$200.00	\$1,000.00	\$225.00	\$1,125.00	\$667.08	\$3,335.40		\$1,180.00
	FUSE, S&C 25E +	5	EA	\$200.00	\$1,000.00	\$225.00	\$1,125.00	\$667.08	\$3,335.40		\$1,180.00
	FUSE, S&C 30E +	5	EA	\$200.00	\$1,000.00	\$225.00	\$1,125.00	No Bid	\$1,180.00	\$236.00	\$1,180.00
	FUSE, S&C 40E +	5	EA	\$200.00	\$1,000.00	\$225.00	\$1,125.00	\$192.71	\$963.55		\$1,180.00
	FUSE, S&C 50E +	5	EA	\$200.00	\$1,000.00	\$225.00	\$1,125.00	\$305.75	\$1,528.75		\$1,180.00
	FUSE, S&C 65E +	80	EA	\$200.00	\$16,000.00	\$225.00	\$18,000.00	\$370.60	\$29,648.00		\$18,880.00
	FUSE, S&C 80E +	10	EA	\$200.00	\$2,000.00	\$225.00	\$2,250.00	\$667.08	\$6,670.80		\$2,360.00
	FUSE, S&C, END FITTING +	5	EA	\$200.00	\$2,588.25	\$585.00	\$2,925.00		\$9,014.85		\$3,045.00
	FUSE, S&C, END FITTING + FUSE, S&C, END FITTING, PME GEAR+	15	EA	\$517.65	\$7,764.75	\$580.00	\$2,925.00		\$27,044.55		\$9,135.00
	Estimated Delivery (Business Days)	13	LA		\$7,704.75 1 days		days		327,044.33		
	Special Order	1	% Discount		o Bid		.0%		1.0%		No Bid
15.10		Sect	ion M Total:		.353.00		.070 25.00		2,188.60		9,940.00
SECTI	ON N: FUSING AND PROTECTION-BAY-O-NET FUSES AND FUSTRON	500	ion in rotal.	φ -	,	φ+7,0	25.00	ψ102	.,100.00	φ 4 2	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		5	EA	No D: J	\$125.00	\$25.00	\$125.00	No D: 1	\$125.00	No D:J	\$125.00
	FUSE, BAYONET, 100 AMP +	5	EA	No Bid	\$125.00	\$25.00 \$330.00	\$125.00		\$125.00		\$125.00
	FUSE, BAYONET, 125 AMP +	5	EA	No Bid				\$277.95			\$1,650.00
	FUSE, BAYONET, 15 AMP +	10	EA	No Bid	\$250.00	\$25.00	\$250.00			No Bid	\$250.00
	FUSE, BAYONET, 25 AMP +	10	EA	\$27.78	\$277.80 \$833.90	\$25.00 \$25.00	\$250.00		\$1,417.70	No Bid No Bid	\$1,417.70
	FUSE, BAYONET, 40 AMP + FUSE, BAYONET, 50 AMP +	10	EA	No Bid			\$250.00 \$125.00				\$833.90
		-	EA	No Bid	\$125.00	\$25.00			\$125.00		\$125.00
	FUSE, BAYONET, 65 AMP +	10	EA	No Bid	\$1,036.80	\$50.00	\$500.00		\$1,036.80		\$1,036.80
	FUSE, BAYONET, 8 AMP +	10	EA	No Bid	\$240.60	\$25.00	\$250.00		\$240.60		\$240.60
	FUSETRON 10 AMP FNM 250V +	120	EA	\$3.80	\$456.00	\$4.35	\$522.00		\$1,684.80		\$1,684.80
-	FUSETRON 20 AMP MAX500V +	100	EA	\$9.68	\$968.00	\$10.65	\$1,065.00		\$1,290.00		\$1,684.80
14.11	FUSETRON 30 AMP MAX500V +\	75	EA	\$9.68	\$726.00	\$10.65	\$798.75	\$15.81	\$1,185.75	No Bid	\$1,185.75

	Respondent's Business Nar				Electrical outors, Inc.	Techli	ine, Inc.	Apfelbaum	Industrial Inc	Stuart C. Irby	
	Principal Place of Busi				an, TX	Fort W	orth, TX	El Paso, TX		Fort	Worth, TX
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	FUSETRON 60 AMP FRN +	5	EA	\$5.46	\$27.30	\$14.75	\$73.75	\$54.96	\$274.80	No Bid	\$274.80
	FUSETRON 60 AMP FRS +	5	EA	\$12.13	\$60.65	\$32.70	\$163.50	\$48.53	\$242.65		\$242.65
	FUSETRON 7 AMP FNM +	70	EA	\$4.04	\$282.80	\$6.85	\$479.50	\$16.14	\$1,129.80	No Bid	\$1,129.80
	Estimated Delivery (Business Days)	1			1 days		days		5 days		No Bid
14.16	Special Order	1	% Discount		o Bid		.0%		.0%		No Bid
		Sect	ion N Total:	\$7,	059.85	\$6,5	02.50	\$11	,226.55	\$11	,881.60
	ON O: FUSING AND PROTECTION-MISCELLANEOUS										
	ARRESTER, W/CAP W/O BRACKET +		EA	No Bid	\$113,406.00	\$69.00	\$41,400.00	\$189.01	\$113,406.00	\$84.32	\$50,592.00
	CUTOUT DOOR, 100AMP NEW STYLE	20	EA	No Bid	\$3,068.60	\$51.31	\$1,026.20	\$153.43	\$3,068.60	\$72.09	\$1,441.80
	CUTOUT, 100 AMP NO HARDWARE+		EA	No Bid	\$96,356.00	\$106.25	\$34,531.25	\$296.48	\$96,356.00		\$50,069.50
	CUTOUT, POLY, 100A 15KV +		EA	No Bid	\$115,628.50	\$138.00	\$44,850.00	\$355.78	\$115,628.50		\$63,774.75
	CUTOUT, POLY, 200A 15KV +	325	EA	No Bid	\$168,021.75	\$183.00	\$59,475.00	\$516.99	\$168,021.75		\$85,426.25
	DISCONNECT, RISER 600 AMP +	60	EA	No Bid	\$20,160.00	\$336.00	\$20,160.00	No Bid	\$20,160.00	No Bid	\$20,160.00
	DISCONNECT, RISER 900 AMP +	40	EA	No Bid	\$15,840.00	\$396.00	\$15,840.00	No Bid	\$15,840.00	No Bid	\$15,840.00
	FUSE HOLDER, "BUSSMAN" +	190	EA	\$10.59	\$2,012.10	\$18.00	\$3,420.00	\$26.35	\$5,006.50	No Bid	\$5,006.50
	FUSE HOLDER, "HOMAC" +	80	EA	\$73.55	\$5,884.00	\$76.30	\$6,104.00	\$159.65	\$12,772.00	No Bid	\$12,772.00
	FUSE HOLDER, KEARNEY DOORS ^	75	EA	\$131.58	\$9,868.50	\$128.00	\$9,600.00	No Bid	\$9,868.50	No Bid	\$9,868.50
	FUSE LIMITRON KTK 30 AMP +	5	EA	\$8.36	\$41.80	\$21.70	\$108.50	\$16.45	\$82.25		\$108.50
	FUSE, CAPACITOR 40AMP 8.3K +	5	EA	\$390.76	\$1,953.80	\$230.00			\$5,749.85	No Bid	\$5,749.85
	Estimated Delivery (Business Days)	1	a		70 days		days		0 days		No Bid
15.14	Special Order	1	% Discount		lo Bid	14.0% \$237,664.95		No Bid \$565,959.95			No Bid
an ante		Sect	ion O Total:	\$552	2,241.05	\$237,	664.95	\$565	,959.95	\$32	0,809.65
	DN P: HARDWARE		-	.	#202.00	*= 0.2	** •• * *	#12.2.5	.		\$ <<0.00
	BOLT DA 5/8 X 16" +\		EA	\$6.06	\$303.00	\$5.93	\$296.50	\$13.36	\$668.00		\$668.00
	BOLT DA 5/8 X 20" +\	150	EA	\$6.94	\$1,041.00	\$6.76	\$1,014.00	\$13.51	\$2,026.50	No Bid	\$2,026.50
	BOLT DA $5/8 \ge 24" +$	300	EA	\$8.06	\$2,418.00	\$8.16	\$2,448.00	\$15.75	\$4,725.00	No Bid	\$4,725.00
	BOLT DA 5/8 X 30" +\		EA	\$10.18	\$763.50	\$12.10	\$907.50	\$19.10	\$1,432.50		\$1,432.50
	BOLT EYE 5/8 X 14" +\		EA EA	\$6.90	\$1,725.00	\$8.53	\$2,132.50	\$14.69	\$3,672.50	No Bid	\$3,672.50
	BOLT MACHINE 1/2" X 7" +\	,	EA EA	\$2.90	\$3,190.00 \$264.50	\$2.28 \$5.64	\$2,508.00 \$282.00	\$8.45 \$12.25	\$9,295.00	No Bid	\$9,295.00 \$612.50
	BOLT MACHINE 3/4 X 12" +\ BOLT MACHINE 3/4 X 14" W/ NUT+		EA	\$5.29 \$6.71	\$2,013.00	\$5.04 \$6.40	\$282.00	\$12.25	\$612.50 \$3,885.00	No Bid No Bid	\$012.30
	BOLT MACHINE 3/4 X 14 W/ NOT+ BOLT MACHINE 3/4 X 16" +\	250	EA	\$0.71	\$2,013.00	\$0.40	\$1,920.00	\$12.93	\$3,460.00	No Bid No Bid	\$3,885.00
	BOLT MACHINE 3/4 X 10 + BOLT MACHINE 3/4 X 18" +		EA	\$7.18	\$1,795.00	\$8.83	\$132.45	\$16.14	\$242.10		\$242.10
	BOLT MACHINE 5/4 X 10 +		EA	\$2.00	\$300.00	\$2.28	\$342.00	\$5.63	\$844.50		\$844.50
	BOLT MACHINE 5/8 X 10 +\		EA	\$2.29	\$916.00	\$2.93	\$1,172.00	\$5.95	\$2,380.00	No Bid	\$2,380.00
	BOLT MACHINE 5/8 X 12 +\	2,000		\$2.56	\$5,120.00	\$3.46	\$6,920.00	\$6.60	\$13,200.00	No Bid	\$13,200.00
	BOLT MACHINE 5/8 X 16" +\	1,500		\$4.48	\$6,720.00	\$3.95	\$5,925.00	\$8.69	\$13,035.00	No Bid	\$13,035.00
	BOLT MACHINE 5/8 X 6" +\		EA	\$2.47	\$864.50	\$2.50	\$875.00	\$4.84	\$1,694.00	No Bid	\$1,694.00
	BOLT MACHINE 5/8" X 18" +\		EA	\$5.22	\$2,088.00	\$4.87	\$1,948.00	\$9.52	\$3,808.00		\$3,808.00
	BOLT MACHINE 5/8" X 2 1/2" +\		EA	\$2.52	\$882.00		\$1,039.50		\$1,144.50		\$1,144.50
	BOLT SET, 1/2" X 1 1/2" S.S. +\		EA	No Bid	\$620.00	\$3.10	\$620.00		\$620.00		\$620.00
	BOLT SET, 1/2" X 2 1/2" S.S. +\		EA	No Bid	\$990.00	\$6.60	\$990.00		\$990.00		\$990.00
	BOLT SET, 1/2" X 2" S.S. +\		EA	No Bid	\$1,743.00	\$4.98	\$1,743.00		\$1,743.00		\$1,743.00
	BOLT SET, 3/8" X 1" S.S. +\		EA	No Bid	\$44.25	\$2.95	\$44.25		\$44.25		\$44.25
-	BOLT SET, GALVANIZED 1/2"X2.5"		EA	No Bid	\$3,000.50	\$3.53	\$3,000.50		\$3,000.50		\$3,000.50
			EA		\$670.50	\$3.05	\$457.50		\$1,893.00		\$1,893.00
16.23	BOLL CARRIAGE 3/8 X 8"W/NUT +/	0.0									φ1,075.00
	BOLT, CARRIAGE 3/8 X 8"W/NUT +/ BOLT, CARRIAGE 3/8"X4.5 W/NUT+/	-		\$4.47 \$1.32							\$388 50
16.24 I	BOLT, CARRIAGE 3/8 X 8"W/NUT +/ BOLT, CARRIAGE 3/8"X4.5 W/NUT+/ BOLT, EYE 5/8"X16" +\	150	EA EA	\$4.47 \$1.32 \$8.55	\$198.00 \$855.00	\$0.89 \$8.17	\$133.50 \$817.00	\$2.59	\$388.50 \$1,569.00	No Bid	\$388.50 \$1,569.00

	Responde	nt's Bu	siness Name:		Electrical outors, Inc.	Techl	ine, Inc.	Apfelbaun	n Industrial Inc	Stua	rt C. Irby
	Principal Place of Busin		,	Br	yan, TX	Fort W	/orth, TX	El Paso, TX		Fort '	Worth, TX
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	CLEVIS FORK, INSULATED +\	1,000	EA	\$7.88	\$7,880.00	\$7.50	\$7,500.00	\$26.78	\$26,780.00	No Bid	\$26,780.00
16.28 C	GUY ATTACHMENT +	100	EA	\$20.82	\$2,082.00	\$29.46	\$2,946.00	No Bid	\$2,946.00	No Bid	\$2,946.00
	SUY ATTACHMENT SIDEWALK +		EA	\$22.29	\$222.90	\$34.15	\$341.50	\$33.34	\$333.40	No Bid	\$333.40
	SUY STRIP ATTACHMENT +		EA	No Bid	\$343.00	\$3.43	\$343.00	No Bid	\$343.00	No Bid	\$343.00
	IARDWARE, 100/200 AMP CUTOUT +	300	EA	\$22.18	\$6,654.00	\$14.31	\$4,293.00	\$51.79	\$15,537.00	No Bid	\$15,537.00
	IOOK "J" DRIVE 5/8 +	150	EA	\$1.98	\$297.00	\$1.80	\$270.00	\$3.65	\$547.50	No Bid	\$547.50
	IOOK, CANT 48" HANDLE, 12" HOOK	5	EA	No Bid	\$230.00	\$230.00	\$1,150.00	\$142.14	\$710.70	No Bid	\$710.70
	OCKNUT, 3/4" SQ	50	EA	\$0.71	\$35.50	\$0.82	\$41.00	\$4.54	\$227.00	No Bid	\$227.00
	OCKNUT, CONDUIT 2" +	50	EA	\$0.84	\$42.00	\$1.12	\$56.00	\$3.69	\$184.50	No Bid	\$184.50
	OCKNUT, CONDUIT 3"		EA	\$2.29	\$114.50	\$3.06	\$153.00	\$6.93	\$346.50	No Bid	\$346.50
	OCKWASHER, SPRING COIL 1/2"+\	2,000		\$0.27	\$540.00	\$0.47	\$940.00	\$0.46	\$920.00	No Bid	\$920.00
	OCKWASHER, SPRING COIL 3/4"+\		EA	\$0.52	\$416.00	\$1.04	\$832.00	\$1.91	\$1,528.00	No Bid	\$1,528.00
	OCKWASHER, SPRING COIL 5/8"+\	6,000		\$6.94	\$41,640.00	\$0.64	\$3,840.00	\$1.41	\$8,460.00	No Bid	\$41,640.00
	IOUNT TRAN CLUSTER +	10	EA	No Bid	\$4,280.00	\$428.00	\$4,280.00	No Bid	\$4,280.00	No Bid	\$428.00
	NUT, OVAL EYE 5/8" +\		EA	\$17.18	\$8,590.00	\$3.80	\$1,900.00	\$11.41	\$5,705.00	No Bid	\$8,590.00
	VUT, SQUARE 5/8" +\		EA	\$0.52	\$416.00	\$0.58	\$464.00	\$1.06	\$848.00	No Bid	\$848.00
	IN, ARM WOOD W/NYLON THRD +	1,400	EA	\$6.94	\$9,716.00	\$10.10	\$14,140.00	\$36.56	\$51,184.00	No Bid	\$51,184.00
	IN, INSULATOR- LONG SHANK +	60	EA	No Bid	\$1,043.40	\$17.39	\$1,043.40	No Bid	\$1,043.40	No Bid	\$1,043.40
16.45 P	IN, POLETOP W/NYLON THRD+		EA	\$17.18	\$6,872.00	\$17.90	\$7,160.00	No Bid	\$7,160.00	No Bid	\$7,160.00
16.46 S	CREW LAG 1/2 X 4" \	350	EA	\$1.52	\$532.00	\$1.37	\$479.50	\$2.30	\$805.00	No Bid	\$805.00
16.47 S	TAPLE 2"X1/2"X.162, 100/BX +\	230	BX	\$0.42	\$96.60	\$33.74	\$7,760.20	No Bid	\$7,760.20	No Bid	\$7,760.20
	VASHER, SQ 2 1/4",5/8" HOLE +\	4,200	EA	\$0.72	\$3,024.00	\$0.72	\$3,024.00	\$1.28	\$5,376.00	No Bid	\$5,376.00
	VASHER, SQ 2", W/ 1/2" HOLE +\	1,750	EA	\$0.60	\$1,050.00	\$0.53	\$927.50	\$0.83	\$1,452.50	No Bid	\$1,452.50
16.50 V	VASHER, SQ CURVED 2 1/4"X5/8"+\	2,200	EA	\$1.41	\$3,102.00	\$1.48	\$3,256.00	\$3.02	\$6,644.00	No Bid	\$6,644.00
16.51 V	VASHER, SQ CURVED 4"X4"X1/4"+\	600	EA	\$4.28	\$2,568.00	\$6.21	\$3,726.00	\$9.99	\$5,994.00	No Bid	\$5,994.00
16.52 F	Estimated Delivery (Business Days)	1		14 -	224 days	364	days	60) days	١	No Bid
16.53 S	pecial Order	1	% Discount	Λ	lo Bid	14	.0%	2	2.0%	١	No Bid
		Sect	ion P Total:	\$14	1,513.70	\$111,	374.30	\$234	,579.05	\$26	6,792.05
SECTIO	N Q: INSULATORS										
17.1 II	NSULATOR, 4/O - 795 PORCELAIN, "F" NECK INSULATOR	1,900	EA	No Bid	\$7,296.00	\$3.84	\$7,296.00	No Bid	\$7,296.00	No Bid	\$7,296.00
17.2 II	NSULATOR, BELL POLYMER +	850	EA	No Bid	\$40,383.50	\$19.03	\$16,175.50	\$47.51	\$40,383.50	No Bid	\$40,383.50
17.3 II	NSULATOR, HOUSE KNOB +\	75	EA	\$4.46	\$334.50	\$8.00	\$600.00	No Bid	\$600.00	No Bid	\$600.00
17.4 II	NSULATOR, POST, 45 KV	60	EA	\$35.00	\$2,100.00	\$29.35	\$1,761.00	No Bid	\$2,100.00	No Bid	\$2,100.00
17.5 II	NSULATOR, SPOOL, J-93 FORK +\	1,000	EA	\$1.12	\$1,120.00	\$3.05	\$3,050.00	No Bid	\$3,050.00	No Bid	\$3,050.00
17.6 II	NSULATOR,GUY STRAIN FGLS 54"\	220	EA	\$22.69	\$4,991.80	\$22.70	\$4,994.00	No Bid	\$4,994.00	No Bid	\$4,994.00
17.7 E	Estimated Delivery (Business Days)	1		14-	210 days	154	days	90) days	١	No Bid
17.8 S	pecial Order	1	% Discount	Λ	lo Bid	14	.0%		1.0%	١	No Bid
		Sect	ion Q Total:	\$56	5,225.80	\$33,	876.50	\$58	,423.50	\$58	3,423.50
SECTIO	N R: LIGHTING					_					
18.1 A	ARM, HWY LIGHT STEEL 11"6	5	EA	No Bid		No Bid		No Bid		No Bid	
	RM, STREETLIGHT, AL 8',FLAT +		EA	No Bid	\$9,800.00	\$245.00		No Bid	\$9,800.00		\$9,800.00
18.3 A	RM, STREETLIGHT,AL 8',CURVED+		EA	No Bid	\$20,655.00	\$243.00	\$20,655.00	No Bid	\$20,655.00	No Bid	\$20,655.00
18.4 F	BRACKET, SINGLE M.H. +		EA	No Bid	\$1,420.00	\$142.00	\$1,420.00	No Bid	\$1,420.00	No Bid	\$1,420.00
18.5 B	BRACKET, TWIN M.H. GALVANIZED +	5	EA	No Bid		No Bid		No Bid		No Bid	
18.6 F	LOODLIGHT ULTRA H.DUTY 250W+	10	EA	No Bid		No Bid		No Bid		No Bid	
18.7 F	LOODLIGHT ULTRA H.DUTY 400W+		EA	No Bid		No Bid		No Bid		No Bid	
	LOODLIGHT, LED, 128W, 120/277W		EA	\$420.00	\$16,800.00	\$595.00	\$23,800.00	No Bid	\$23,800.00	No Bid	\$23,800.00
	LOODLIGHT, LED, 145W, V120/277		EA	\$450.59	\$18,023.60	\$640.00		No Bid	\$25,600.00	No Bid	\$25,600.00
	JLARE SHIELD, ULTRA FLOOD +		EA	No Bid	,	No Bid		No Bid		No Bid	

Responde	Respondent's Business Nat			Electrical outors, Inc.	Techl	ine, Inc.	Apfelbaum	n Industrial Inc	Stua	urt C. Irby
Principal Place of Busin	ess (Ci	ty and State):	Bry	yan, TX	Fort W	orth, TX	El P	Paso, TX	Fort	Worth, TX
Line # Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
18.11 LAMP, 100W HPS WITH STARTER +	1,000	EA	No Bid		No Bid		No Bid		No Bid	
18.12 LAMP, 1500 W METAL HALIDE +	40	EA	No Bid		No Bid		No Bid		No Bid	
18.13 LAMP, 250W HPS WITH STARTER +	400	EA	No Bid		No Bid		No Bid		No Bid	
18.14 LAMP, 400 W METAL HALIDE +	90	EA	No Bid	\$2,836.80	No Bid	\$2,836.80	\$31.52	\$2,836.80	No Bid	\$2,836.80
18.15 LAMP, 400W HPS WITH STARTER +	100	EA	No Bid		No Bid		No Bid		No Bid	
18.16 LAMP, FLOURESCENT 48"	100	EA	No Bid	\$621.00	No Bid	\$621.00	\$6.21	\$621.00	No Bid	\$621.00
18.17 LAMP, FLOURESCENT 48" D. PIN +	50	EA	No Bid	\$265.00	No Bid	\$265.00	\$5.30	\$265.00	No Bid	\$265.00
18.18 LAMP, FLOURESCENT 96" D. PIN	15	EA	No Bid	\$226.80	No Bid	\$226.80	\$15.12	\$226.80	No Bid	\$226.80
18.19 LAMP, FLOURESCENT 96" S. PIN	30	EA	No Bid	\$1,170.60	No Bid	\$1,170.60	\$39.02	\$1,170.60	No Bid	\$1,170.60
18.20 LAMP, METAL HALIDE 250W +	50	EA	No Bid	\$1,561.00	No Bid	\$1,561.00	\$31.22	\$1,561.00	No Bid	\$1,561.00
18.21 PHOTO CELL +\	1,100	EA	No Bid	\$39,193.00	\$7.99	\$8,789.00	\$35.63	\$39,193.00	No Bid	\$39,193.00
18.22 PHOTO CELL 480V +	40	EA	No Bid	\$1,320.80	\$23.00	\$920.00	\$33.02	\$1,320.80	No Bid	\$1,320.80
18.23 PHOTO CELL BLANK +	20	EA	No Bid	\$570.80	\$5.50	\$110.00	\$28.54	\$570.80	No Bid	\$570.80
18.24 STREETLIGHT, 100W HPS COBRA +	120	EA	\$222.24	\$26,668.80	No Bid	\$26,668.80	No Bid	\$26,668.80	No Bid	\$26,668.80
18.25 STREETLIGHT, 250W 480V HPS +	10	EA	No Bid		No Bid		No Bid		No Bid	
18.26 STREETLIGHT, 250W HPS CUT +	100	EA	\$304.59	\$30,459.00	No Bid	\$30,459.00	No Bid	\$30,459.00	No Bid	\$30,459.00
18.27 STREETLIGHT, 400W 120/240 +	10	EA	No Bid		No Bid		No Bid	. ,	No Bid	. ,
18.28 STREETLIGHT, DECORATIVE TYPE III +	140	EA	No Bid		No Bid		No Bid		No Bid	
18.29 Estimated Delivery (Business Days)	1			2 days		days		5 days		No Bid
18.30 Special Order	1	% Discount		lo Bid		.0%	1.0%			No Bid
	Sect	ion R Total:		\$171,592.20		\$154,903.00		\$186,168.60		6,168.60
SECTION S: MARKING					,			,		-,
19.1 MARKER, CABLE 3X8 +	20	EA	No Bid	\$ 1,000.00	\$50.00	\$ 1,000.00	No Bid	\$ 1,000.00	No Bid	\$ 1,000.00
19.2 MARKER, ELECTRONIC 3M, BALL +	50	EA		\$ 1,779.00	\$12.90		\$35.58	\$ 1,779.00	No Bid	\$ 1,779.00
19.3 MARKER, FLAG ORANGE FOR FIBER+	30	BN	No Bid	\$ 425.70	\$13.00		\$14.19	\$ 425.70	No Bid	\$ 425.70
19.4 MARKER, FLAG WHITE 4"X 5"X 18	40	BN	No Bid	\$ 567.60	\$12.00		\$14.19	\$ 567.60	No Bid	\$ 567.60
19.5 MARKER, FLAG "BURIED CABLE RED"+	280	BN	No Bid	\$ 4,306.40		\$ 3,668.00	\$15.38	\$ 4,306.40	No Bid	\$ 4,306.40
19.6 TAG, ELECTRIC "HOLD" + \	600	EA	No Bid	\$ 2,580.00		\$ 2,580.00	No Bid	\$ 2,580.00	No Bid	\$ 2,580.00
19.7 TAG, MARKING PH B-WHITE $25/PK+$	25	PK		\$ 962.50	\$38.50		No Bid		No Bid	\$ 962.50
19.8 TAG, MARKING PH C-BLUE 25/PK + \langle	25	PK	No Bid	\$ 962.50	\$38.50		No Bid		No Bid	\$ 962.50
19.9 TAG, MARKING PHASE A RED25/PK+\	25	PK	No Bid	\$ 962.50	\$38.50		No Bid		No Bid	\$ 962.50
19.10 TAPE, FLAGGING +		EA	No Bid	\$ 162.60	\$1.58		\$8.13		No Bid	\$ 162.60
19.11 TAPE, UG, MARKING 6"X1000' +		RL	No Bid	\$ 9,990.00		\$ 4,797.00	\$55.50		No Bid	\$ 9,990.00
19.12 Estimated Delivery (Business Days)	1	ICL .	no bia	φ ,,,,,,		days		$\frac{1}{2}$ days		No Bid
19.13 Special Order	1	% Discount	λ	lo Bid		.0%		1.0%		No Bid
	Sect	tion S Total:		,698.80		479.10		,698.80		3,698.80
SECTION T: TOOLS AND INSTALLATION ACCESSORIES			<i>420</i>	,070100	<i>\</i> 1 0,		\$20	,070100	φ=ι	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
20.1 CEMENT PVC - QUART +	1,100	EA	\$15.16	\$ 16,676.00	\$13.78	\$ 15,158.00	\$34 30	\$ 37,829.00	No Rid	\$ 37.829.00
20.1 CLEMENTIVE - QUART + 20.2 CLEANER CABLE +	/	EA		\$ 49,367.50		\$ 25,550.00		\$ 49,367.50		\$ 49,367.50
20.3 CLEANER CABLE + 20.3 CLEANER, PVC CEMENT, 1 QT +		EA		\$ 7,326.80		\$ 3,426.80		\$ 7,326.80		
20.4 COMPOUND, WIRE PULLING, SUMMER, 5 GAL+		EA		\$ 50,688.00		\$ 50,688.00		\$ 50,688.00		
20.5 FOAM POLECRETE 1 GAL +		EA		\$ 58,436.00		\$ 10,000.00		\$ 58,436.00		\$ 12,290.00
20.6 FOAM POLECRETE 3 GAL +		EA		\$ 28,944.00		\$ 60,000.00		\$ 525,924.00		
20.7 FOAM, SPRAY FOAM, UTILITY +		EA	\$97.65		\$88.00		No Bid		No Bid	\$ 976.50
20.7 FOAM, SFRAT FOAM, OTHETT + 20.8 PENETROX, 8 OZ +		EA	No Bid			\$ 170.60			No Bid No Bid	\$ 597.00
20.9 SILICONE, GREASE 2 OZ. TUBE +		EA		\$ 2,200.00		\$ 2,200.00			No Bid No Bid	\$ 2,200.00
20.9 SILICONE, GREASE 2 OZ. TUBE + 20.10 SILICONE, RTV ADHESIVE -CLEAR+		EA	\$8.78		\$6.70		\$30.95		No Bia No Bid	\$ 2,200.00 \$ 309.50
20.10 SILCONE, RTV ADHESIVE -CLEAR+ 20.11 TAPE, WIRE PULLING , 1800# +	-	EA RL		\$ 8,633.80		\$ 6,055.00	\$30.95			\$ 309.30 \$ 8,633.80
20.11 TAPE, WIRE PULLING , 1800# + 20.12 TAPE, WIRE PULLING 2500# +	35 175			\$ 8,033.80 \$ 97,909.00		\$ 6,055.00 \$ 36,750.00				\$ 8,033.80 \$ 97,909.00
20.12 TALE, WIKE FULLING 2300# +	173	KL	NU DIU	φ 91,909.00	φ 210.0 0	φ 30,750.00	<i>фээ</i> 9.48	φ 27,909.00	NU DIU	φ 91,909.00

			siness Name:	Distrib	Electrical outors, Inc.		ine, Inc.	*	n Industrial Inc		urt C. Irby		
	Principal Place of Busin				yan, TX	Fort W	Fort Worth, TX		El Paso, TX		Worth, TX		
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended		
	TWINE- OVERHEAD P-LINE DOLLY+		EA		\$ 2,260.00		\$ 2,260.00	No Bid		No Bid	\$ 2,260.00		
	WRENCH, " T " 3/4 " (11 MM) +	15	EA	No Bid	\$ 2,362.65	\$48.00		\$157.51		No Bid	\$ 2,362.65		
	Estimated Delivery (Business Days)	1			1 days		days) days		7 days		
20.16	Special Order	1	% Discount		lo Bid		.0%		2.0%		No Bid		
		Sect	ion T Total:	\$326	6,465.05	\$213,	925.40	\$844	,819.75	\$34	7,149.75		
SECTIO	ON U: WOOD ARMS					_							
21.1	BRACE, CROSSARM WOOD 60" +	500	PR	\$28.95	\$14,475.00	\$28.95	\$14,475.00	\$51.20	\$25,600.00	\$52.85	\$26,425.00		
	ARM WOOD 3 3/4" x 4 3/4" X 8'+		EA	\$93.12	\$32,592.00	\$95.00	\$33,250.00	No Bid	\$33,250.00	No Bid	\$33,250.00		
	ARM WOOD 3.75"X4.75"X10' +	300	EA	\$116.41	\$34,923.00	\$120.00	\$36,000.00	No Bid	\$36,000.00	No Bid	\$36,000.00		
21.4	Estimated Delivery (Business Days)	1		28-2	24 days		days) days	1	No Bid		
21.5	Special Order	1	% Discount		o Bid		5.0%		1.0%		No Bid		
		Sect	ion U Total:	\$81	,990.00	\$83,	725.00	\$94	,850.00	\$95	5,675.00		
	ON V: WILDLIFE COVERS-RELIAGUARD		-					-					
22.1	COVER, WILDLIFE, 1" EEL ^		BX	No Bid	\$4,425.00	\$885.00	\$4,425.00	No Bid	\$4,425.00	No Bid	\$4,425.00		
22.2	COVER, WILDLIFE, ARRESTER +	500	EA	No Bid	\$10,445.00	\$20.89	\$10,445.00	No Bid	\$10,445.00	No Bid	\$10,445.00		
22.3	COVER, WILDLIFE, EXIT CABLE TERMINATION^	250	EA	No Bid	\$5,550.00	\$22.20	\$5,550.00	No Bid	\$5,550.00	No Bid	\$5,550.00		
22.4	COVER, WILDLIFE, GUARD, CROSS ARM	25	EA	No Bid	\$2,265.50	\$90.62	\$2,265.50	No Bid	\$2,265.50	No Bid	\$2,265.50		
22.5	COVER, WILDLIFE, POLE WRAP +	5	EA	No Bid	\$1,559.25	\$311.85	\$1,559.25	No Bid	\$1,559.25	No Bid	\$1,559.25		
22.6	COVER, WILDLIFE, WIRE,#4-1/0 +		BX	No Bid	\$139,500.00	\$558.00	\$139,500.00	No Bid	\$139,500.00	No Bid	\$139,500.00		
22.7	COVER, WILDLIFE, WIRE,266-397 +	15	BX	No Bid	\$11,100.00	\$740.00	\$11,100.00	No Bid	\$11,100.00	No Bid	\$11,100.00		
22.8	COVER, WILDLIFE, XFMR BUSHING+	700	EA	No Bid	\$8,820.00	\$12.60	\$8,820.00	No Bid	\$8,820.00	No Bid	\$8,820.00		
	Estimated Delivery (Business Days)	1		N	lo Bid	84	days	N	o Bid	1	No Bid		
22.10	Special Order	1	% Discount	N	lo Bid	14	.0%	N	lo Bid	ľ	No Bid		
		Sect	ion V Total:	\$183	3,664.75	\$183,	664.75	\$183	3,664.75	\$18	3,664.75		
SECTIO	ON W: MISCELLANEOUS												
23.1	BRACKET,STANDOFF W/16" T-SLOT+	300	EA	\$45.65	\$13,695.00	\$45.65	\$13,695.00	No Bid	\$13,695.00	No Bid	\$13,695.00		
23.2	CLAMP, DEADEND 566 & 795, 12K+	750	EA	\$28.59	\$21,442.50	\$54.78	\$41,085.00	\$122.21	\$91,657.50	No Bid	\$41,085.00		
23.3	DEADEND, BOLTED 2-336 +	200	EA	\$26.18	\$5,236.00	\$36.35	\$7,270.00	No Bid	\$7,270.00	No Bid	\$7,270.00		
23.4	OIL, TRANSFORMER +	5	DR	No Bid	\$12,323.85	\$1,938.00	\$9,690.00	\$2,464.77	\$12,323.85	No Bid	\$12,323.85		
23.5	POISON, FIRE ANT KILLER +	800	EA	No Bid	\$3,120.00	\$3.90	\$3,120.00	No Bid	\$3,120.00	No Bid	\$3,120.00		
23.6	PROTECTOR, NYLON CABLE +	150	EA	No Bid	\$1,867.50	\$8.30	\$1,245.00	\$12.45	\$1,867.50	No Bid	\$1,867.50		
23.7	SPRAY, WASP & HORNET	500	EA	No Bid	\$6,485.00	\$6.30	\$3,150.00	\$12.97	\$6,485.00	No Bid	\$6,485.00		
23.8	STIRRUP, BAIL HOT LINE CLAMP+\	200	EA	No Bid	\$4,824.00	\$5.16	\$1,032.00	\$24.12	\$4,824.00	No Bid	\$4,824.00		
	GLOVES, 27CAL GROUND L	10	PR	No Bid	\$610.60	\$33.00	\$330.00	\$61.06	\$610.60	No Bid	\$610.60		
23.10	GLOVES, 27CAL GROUND XL	10	PR	No Bid	\$610.60	\$33.00	\$330.00	\$61.06	\$610.60	No Bid	\$610.60		
	GLOVES, 27CAL GROUND 2X	10	PR	No Bid	\$610.60	\$33.00	\$330.00	\$61.06	\$610.60	No Bid	\$610.60		
	GLOVES LEATHER UTILITY PLUS 2X	10	PR	No Bid	\$667.60	\$34.00	\$340.00	\$66.76	\$667.60	No Bid	\$667.60		
	GLOVES LEATHER UTILITY PLUS L	10	PR	No Bid	\$667.60	\$34.00	\$340.00	\$66.76	\$667.60	No Bid	\$667.60		
	GLOVES LEATHER UTILITY PLUS M	10	PR	No Bid	\$667.60	\$34.00	\$340.00		\$667.60	No Bid	\$667.60		
	GLOVES, 27CAL GROUND M		PR	No Bid	\$610.60	\$33.00		\$61.06	\$610.60	No Bid	\$610.60		
23.16	WIRE-FLEX 2/0 AWG 1274/30 STR	_	FT	No Bid	\$2,319.00	\$4.80			\$2,319.00		\$2,319.00		
	WIRE, SHIELD 3/8" EHS 7-STR	1,500		No Bid	\$3,465.00	\$0.73			\$3,465.00		\$3,465.00		
	PAD, TRAN 48"X48" FIBERCRETE		EA	No Bid	\$105,000.00		\$105,000.00		\$105,000.00	No Bid	\$105,000.00		
23.19	Pad-Mount Green Transformer Paint	24	EA	\$7.12	\$170.88	\$352.56	\$352.56	\$14.69	\$352.56	No Bid	\$352.56		
23.20	Estimated Delivery (Business Days)	1		14 -182 days		210	days	45	5 days	1	No Bid		
23.21	Special Order	1	% Discount	N	o Bid	14	.0%	1	2.0%	1	No Bid		
		Secti	on W Total:					\$184,393.93 \$190,514.56		\$256	5,824.61	\$20	6,252.11